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WICK LOOK-UP OPERATING INSTRUCTIONS
CR R QUICKTSSE$RENCE. 00K UP THE FOLLOWING SECTIONS:

¢ RBS

0 REQUIREMENTS

1 LORDING AND OPERATOR ACTION

.0 SWITCH OPTIONS
OR R MORE COMPLETE EXPLANATION REFER "0 THE TRBLE OF
ONTENTS BELOW AND THE FOLLOWING DOCUMENT.

TRBLE OF CONTENTS
ABSTRACT

REGUIREMENTS
EQUIPMENT

PREL IMINARY PROGRAMS
EXECUTION TIME
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PROGRAM CONTROL MCDES 8 OPERATIR AZTION
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ACT11
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SCOPE LOOPS

c PROGRAM STRUCTURE

.0 ERROR REPORTING

o ERROR INTERPRETATION

HANDLERS AND COMMON RCUTINES
TRAP HANDLER .
SCOPE HANDLER

ERROR HANDLER

CONTROL RESET ROUTINE

CONTROL READY ROUTINE

TIME DELAY RCUTINE
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:M0 PASE 4

RBSTRACT

THE RK11 LOGIC TESTS CONSIST OF A SERIES OF TESTS
RIMED AT CHECKING THE BRSIC LOGIC OF THE Rkll
CONTROLLER.

THE LOGIC TESTS CONSISTS OF TWO PARTS. THIS PROGRAM
IS PART-I AND IT CHECKS ONLY THE DRIVE- INDEPENDENT
LOGIC OF THE RK1l CONTROLLER (SEE SEC. 9-0). IT
SHOULD BE NOTED THAT LOGIC TEST-I AND LOGIC TEST-II
TOGETHER CONSTITUTE A COMPLETE PROGRAM AND HENCE
BOTH OF THEM SHCULD BE RUN.

JSED CORRECTLY THIS PROSFA™ (AN BE AN EFFECTIVE
ANALYTIC AND DIAGNOSTIC Toul.

REGUIREMENTS

EQUIPMENT

POP11 WITH CONSOLE TELETYPE.

g&x?FoEEgasfx CONTRILLER

PREL IMINARRY PROGRAMS

NONE

EXECUTION TIME

ERROR FREE FIRST PASS 2N PDP11/20 WITH CORE MEMCRY

TAKES APPROXIMATELY ONE MINUTE. CONSIDERARBLY LESS
FOR FASTER MACHINES OR MEMCRIES.

Ommn

STRARTING RDDRESS

200 FOR ANY MODE OF OPERATION. NCRMAL START UP WI'm
ALL SWITCHES DOWN.

PROGRAM CONTRGL MODES & OPERATOR ACTION

PAPER TRPE LOADING

RKDP DUMP MODE '

RKDP CHAIN MODE

ACT1I

PAPER TAPE LOADING

LORD PROGRAM INTC MEMCRY JSING STANDARD PRCCEDURE
FOR .ABS TAPES.
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4.1.2 PUT THE DRIVES ON °WRT PROT" @®AND °LORD* RS K
PRECARUTION AGRINST MALFUNCTIONING.

4.1.3 LOAD RDDRESS 200

4.1.4 SET SWITCHES IF DESIRED (SEE SEC S5.C [IF TESTING ON
SIMULATOR PUT SW 10 UP.

PRESS START.
4.1.5 THE PROGRAM IDENTIFIES ITSELF (NAME,MARINDEC NO:.

RK11 LOGIC TEST I
MAINDEC-11-DZRKJ-E

4.1.6 THEN THE PROGRAM PROCEEDS WITH TESTING. AT THE END
OF R PRSS THE FOLLOWING TYPE-OUT OCCJRS

END PARSS & X
WHERE X= PRSS NUMBER (! CONTROL IS PASSED

8,30
T0 THE BEGINNING OF 'THE PROGRAM AND RE-EXECUTICN
BEGINS.

4.1.7 ERROR FREE PRSSES OF THE PROGRAM APPERR RS SHOWN
BELOW.
RKI! LOGIC TES
HRINDEC-II-?ZR\J E
2

END PRSS
END PASS #

4.2 RKOP DUMP MODE

4.2.1 THE PROGRAM IS LCARDED INTC THE MEMORY B8y THE RKCP
MONITOR

START WS NORMALLY USING SA 230

+.2.3 THE PROGRAM_IDENTIFIES ITSELF (NAME,MRINDEC NO.) AND
PROCEEDS WITH TESTING.

<.3 RKDP CHRIN MODE

THE PROGRAM IS CHAIN-LOADED FROM_THE RKDP PACK. AFTER
THE PROGRAM IDENTIFIES ITSELF, IT PROCEEDS WITH TESTING.

4.4 RCT11 MODE
THE PROGRAM IS LOADED BY THE ACTI1 MONITOR. _ ON

STARTING, IT PROCEEDS WITH THE EXECUTION OF THE TESTS
AS BEFORE, BUT THE TITLE 15 NOT TYPED OUT.

4
n
[4V)
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5.1

5.2

SWITCH OPTIONS

IF THE PROGRAM IS BEING RUN ON AR SWITCHLESS PROCESSOR (I.E. AN 1134,
THE PROGRAM WILL DETERMINE THAT THE HARDWARE SWITCH REGISTER IS

NOT PRESENT AND WILL USE R 'SOFTWARE' SWITCH REGISTER. THE
"SOFTWARE " SWITCH REGISTER IS LOCATED AT LOCATION 176 (8). THE
SETTINGS OF THE 'SOFTWARE' SWITCHES ARE CONTROLLED_ THROUGH A KEYBORRL
ROUTINE WHICH IS CALLED BY TYPING A 'CONTROL G'. THE PROGRAM WILL
RECOGNIZE THE 'CONTROL G’ WHENEVER THE PROGRAM ENTERS

THE SCOPE ROUTINE OR BEGINS A NEW TEST. THE
"SOFTWARE' SWITCH VALUES ARE ENTERED AS AN OCTAL NUMBER IN RESPCNSE

TC THE PROMPT FROM THE SWITCH ENTRY ROUT'NE:
*SWR = NNNNNN NEW =’

EACH TIME SWITCH SETTING ARE ENTERED, THE ENTIRE SWITCH REGISTER
IMAGE MUST BE ENTERED. LEADING ZEROS ARE NOT REQUIRED., "RJUBOU™* AND
"CONTROL U® FUNCTIONS MAY BE USED TO CORRECT TYPING ERRORS

DURING SWITCH ENTRY.

ON PROCESSORS WITH HARDWARE SWITCH REGISTERS, THE *SOFTWARE’ SWITCH
REGISTER MAY BE USED. IF THE PROGRAM FINDS ALL 16 SWITCHES IN "~E
JUP” _POSITION, ALL SWITCH REGISTER REFERENCES WI.L BE 7O THE
éEOFBEESEéDREuISTER AND THE PROCEDURES DESCRIBEDC ABOVE MUST

SW«15>=] HALT ON ERROR

SW<lr =1 LOOP ON TEST

SW«1dr=1 INHIBIT ERROR PRINTOLTS

SW¢l2>=1 CYCLE ON ERROR_ TO THE PREVIOCS
"SCOPE’ STATEMENT

SW<lly=1 INHIBIT ITERATIONS

SW¢10>=1 TESTING ON SIMULATOR

SW«O9 =1 LOOP ON SPECIFIC ERROR

SW«08>=1 LOOP ON TEST AS PER SW<07:00

SH¢15>

THE PROGRAM HALTS ON ENCOUNTERING AN ERROR, RFTER
TYPING OUT THE ERROR MESSAGE AND PERTINENT
INFORMATION. PRESSING “CONTINUE™ RESTORES NORMAL
OPERATION OF THE PROGRAM.

SWClY

THE PROGRAM LOOPS ON THE SUBTEST THART IS BEINS
EXECUTED WHEN THE SWITCH IS PUT ON. THIS SWITCH IS
USED NORMARLLY ALONG WITH SW 15. SEE SEC 8.C.

S QD

THIS SWITCH INHIBITS ALL ERROR MESSAGES.  NORMALLY
LUSED WHEN LOOPING ON TEST «(SW !4 OR LOCPING ON
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ERROR (SK 9j.
€. 4 SW <12

THIS SHITCH RLLOHS THE PORGRAM TO CYCLE FROM THE
ERROR TQ THE PREVIOUS SCOPE STRTEMENT.

“?TE ’““;aé?;‘xﬁ?m 3 S AATAch AR OBehoNe aBRTR

SEE SEC 8.0 FOR DIFFERENT SCOPE £ 00P3

nvnanaLE'

z.5 SW <11>
ERCH SUBTEST WILL BE EXECUTED ONLY ONCE.  NORMALLY
AFTER THE FIRST PRSS ERCH suerssr IS ITERATEC A
NUMBER OF TIMES (USUARLLY IN SOME CRSES).
SETTING THIS SWITCH INHIBITS xrsnnrxons S0 THA®
QUICK PASSES CAN BE MADE.

€6 Su <10

THIS SWITCH WHEN SET INDICATES THAT TESTING IS BEING
DONE ON A SIMULATOR. THE SWITCH SHOULD BE PUT JP
BEFORE START- ING_THE PROGRAM. NOTE THAT RKIIC IS
NOT COMPATIBLE WITH THE SIMULATOR.

5.7 SW <0

THIS SWITCH PROVIDES THE TIGHTEST POSSIBLE SCOPE
LOOP.” NOTE THAT UNLIKE SWl2 THE INITIALIZATION OF
PARAMETERS AT THE BEGINNING OF THE SUBTEST MAY NO~
BE DONE IN THIS CASE. THIS SWITCH IS HELPFUL WHEN A
PARTICULAR PART or A SUBTEST 1S BEING REPERTED USING
DIFFERENT PARAME RS nno you unnr 70 SCOPE ON THE
pnnnnsrsn én ERR k; 58 BEING WRITIEN
AND READ BACK WITH coun1 p rsnns FROM 1 T0 17777
PATTERN S61 IS GIVING ERROR, YOU MIGHT NOT WANT TO
GO THROUGH THE 560 PATTERNS BEFORE HITTING ERROR ON
THE S6I1TH PATTERN. IN THIS CASE SW 9 NILL GIVE vOL
A SCOPE LOOP ON THE S61TH PATTERN ONLY.)

SW <GB

THIS SWITCH IS USED TO SELECT A PRARTICULAR TEST RS
PER SW<00-07>) FOR EXECUTION AND SUBSEQUENT LOOFING.
THUS IF TEST 1S IS TO BE SELECTED THE SWITCH SETTING
WOULD BE 000415. IT SHOULD BE NOTED THAT BEFORE
SELECTING TEST 1S, ALL THE PREVIOUS TESTS (l-14
WILL BE EXECUTEC.

wn
w

£.2 SCOPE LOOPS
THERE ARE THREE KINDS OF SCOPE LICPS AVRILRBLE
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1. SWAIM: LOOPING IS DONE FOR THE ENTIRE SuB-TES™

2. SW12: LOOPING IS DONE FROM THE POINT OF ERROK
BACK TO THE PREVIOUS 'SCOPE’ STRTEMENT.

3. SWD9: PROVIDE THE TIGHTEST POSSIBLE SCOPE LOOP
SEE SEC. .7
EXAMPLE
TSTL:  SCOPE
INITIALIZATION
ERROR 1
ERROR 2
ERROR 3
ERROR 4

1ST2:  SCOPE

THE SEQUENCE OF LOOPING FOR DIFFERENT CHRSES IS
EXPLRINED BELOW. _ NOTE THART 'TST1' AND 'TSTE RRE
TAGS WHICH DEFINE THE BOUNDARY CF R _TEST THIS
CASE TESY 1). TEST I STARTS AT °"TST1* ARD ENDS ’UST
BEFORE ‘TST2’.

IN THE ILLUSTRATION BELOW --> INGICATES THE POINT
FRCM WHERE RETURN IS MRDE AND LOOPING IS DONE.

1. ERROR 2 OCCURS, SW 14 SET.

TST1..ERROR 2..TST2~->TST!. .ERRCR 2..7ST2--.TSTL...
2. ERROR 2 OCCURS, SW 12 SET.

TST1...ERROR 2--,TSTl...ERROR2-->TSTl...

3. ERROR 2,3; SW 14 SET.

TST1..ERROR 2..ERROR 3..TST2--,TST]..ERRCR 2..ERRCR
3..T5T2-->1ST1...

4. EPROR 2,3; SW 12 SET.
TST1...ERROR 2-->TST]...ERROR 2-->TST!....
NCTE THRT LOOPING IS CONE FROM THE VERY FIRST ERROR

ENCOUNTERED.  THE MORE BASIC AND ERROR THE ERRLIER
IT OCCURS ANC IS CETECTED AND SHOULD BE FIXEC.
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IN THE ABOVE EXRMPLE NO PRRT OF THE SUB-TEST IS
BEING REPERTED USING DIFFERENT PARAMETERS, HENCE I~

e Hhate® Eol® KT ’Bﬁnéﬂ%‘%d?c i

DIFFERENCE BETWEEN SW 9 AND |

TST1:  SCOPE

INITIALIZATION

ERROR 1

MOV 813, SLPERR :"SLPERR®  CONTARINS

:THE ADDRESS T0 LCOP

. :BACK ON ERROR- SW 9
19: i“'

ERROR 2 % N REPETITIONS
TST2:  SCOPE —
1. SW 12 SET. ERROR 2 OCCURS DURING Kk.TH
REPETITIONS

TSTi..1,2...K.ERROR 2-->T5T1..1,2...K.ERROR e-->TST!..
2. SW 9 SET, ERROR 2 OCCURS DURING K.TH REPETITION
18. .K..ERROR 2-->18. .K..ERROR 2-->18...

7.0 PRCGRAM DESCRIPTION

IN THIS PART OF THE PROGRAM THAT PART OF THE Rkll
CONTROLLER IS CHECKED WHICH DOES NOT DEPEND ON
SIGNALS FROM THE DRIVE. THUS A DRIVE IS NOT_NEEDEC
FOR_THIS TEST, BUT IT SHOULD BE NOTED THAT THE
PART-I1 OF THE 'BASIC LOGIC TESTS’ MUST BE RUN, IN
ORDER TO GET A COMPLETE COVERAGE.

THE TESTS ARE GRADUALLY BUILT UP, CHECKING THE MCST
BASIC AND SIMPLE LOGIC FIRST AND THEN PROGRESSIVELY
MORE COMPLEX LOGIC.

THE FIRST TEST CHECKS THAT RLL RK1l REGISTERS CAN BE
REFERENCED WITHOUT TIMING  OUT. THEN THE

A el (o8 R L
CORRECTLY, BY FLORTING R’ THEN USING A COUNT

PATTERN. THEN IT IS CHECKED THRT THE RK1]1 REGISTERS
CAN BE CLERRED USING CONTRCL RESET AND RESET (BUS
INIT).  FINALLY, THE WORD AND BYTE ADDRESSING LJGIC
OF RK11 IS CHECKED TO SEE THAT ERCH REGISTER IS
UNIGUELY ACDRESSED.
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8.0 ERROR REPORTING

THE ERROR TRBLE STARTING AT  SERRTB _CONTARINS
INFORMATION PERTRINING TO EVERY ERROR THRT CAN

OCCUR. ERCH ITEM IN THE TARBLE CONSISTS OF FOUR
ENTRIES.

AR. EM - THIS IS A POINTER TO THE ERROR MESSAGE TC
BE TYPED OUT WHEN THE ERROR OCCURS.

B. DH - THIS IS A POINTER TO THE DARTR HERDER 0 BE
TYPED OUT.

€. DT - THIS IS A POINTER TO THE DATA WHICH IS TO
BE TYPED TYPED OUT UNDER THE HEADERS.

D. C_- THIS IS A TERMINATOR SIGNIFYING THE END OF
THE ITEM.

THE ERROR CALL IS AN EMT INSTRUCTION WITH ITS LOWER
BYTE ENCODED TO INDICATE THE ERROR NUMBER. THUS
“ERROR 1™ WOULD BE (EMT+1) IE 104001.

EVERY ERROR CORRESPONDS TO AN ITEM IN THE_ERROR
TABLE. THUS "ERROR 14" WOULD CORRESPOND TO ITEM 1M.
AS FAR RS POSSIBLE, THE ERROR MESSAGES HAVE BEEN
KEPT SHORT, BUT CLARITY IS_NOT SACRIFICEC FOR
BREVITY. INSPITE OF THIS, If THE USER FINDS A NEED
HE_CAN_LOOK UP THE ENTIRE ERROR MESSAGE IN THE _ERROR
ITEMS TABLE FOUND IN THE BEGINNING OF THE LISTINGS.
THUS FOR “ERROR 14", “ITEM 14~ IN THE ITEM TABLE CAN
BE LOOKED UP., ~ WHEN THE_ ERROR INSTRUCTION IS
EXECUTED A TRAP OCCURS TO THE ERROR MANDLER LOCRTED
?g gERROR WHICH PROCESSES THE ERROR CALL. SEE SEC

g.C ERROR INTERPRETATION

WHENEVER AN ERROR MESSAGE IS PRINTED OUT, ALL
REGISTERS AND OTHER DATR PERTAINING TO THE ERROR ARE
ALSO GIVEN. RKDS, RKER...RKBR INDICATE THE CONTENTS
OF THE CORRESPONDING REGISTERS AT THE TIME OF ERROR.

EVERY ERROR MESSAGE CONTRINS R PC. THIS PC
INDICATES THE POSITION IN PROGRAM WHERE THE ERRCR
CALL IS LOCATED. THE ERROR MESSRGE, BECAUSE OF
PRRCTICAL  CONSIDERATIONS IS MADE  SHORT  AND
MEANINGFUL. THE USER_IS ADVISED ¥0 LOOK UP_THE PC
IN THE PROGRAM LISTING, WHERE HE WILL FIND MORE
INFORMATION ABOUT THE £RROR. IN MANY INSTANCES, A
SINGLE FAULT WILL GIVE RISE TO MORE THAN ONE ERROR
REPORT. A LITTLE DELIBERAPION AND  CAREFUL
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EXAMINATION OF THE DATA GIVEN WILL BE CERTAINLY VERY
HELPFUL IN PINPCINTING THE  FAULT. R  BRIEF

EXPLANATION OF WHAT IS BEING CHECKED IN THE SUBTEST
IS GIVEN AT THE BEGINNING OF EVERY SUBTEST. ALL THE
NUMBERS GIVEN WITH ERPOR MESSAGES ARE IN OCTAL.

HANDLERS AND COMMON ROUTINES

THE COMMONLY USED ROUTINES USED IN THE PROGRAM ARE
CALLED IN TWO WRYS.

A. RS A SUBROUTINE THROUGH °'JSR® CALL
B. THROUGH A °TRAP' HANDLER
TRAP HANDLER

MANY COMMONLY USED _ROUTINES IN THE PROGRAM_ ARE
CALLED USING THE TRAP INSTRUCTION AND THE 'TRARP’
HANDLER. THE LOWER BYTE OF THE TRAP INSTRUCTION _IS
ENCODED DIFFERENTLY FOR_ DIFFERENCT ROUTINES. THE
TRAP HANDLER IS LOCATED AT 'STRAP’. WHEN A CALL FOR
A_ ROUTINE IS EXECUTED, A TRAP OCCURS TO THE HANDLER
AT "STRAP’. THE HANDLER PICKS UP THE LOWER BYTE OF
THE ~CALL INSTRUCTION™ AND USES IT 710 FORM THE
ggas}égG ADDRESS CF THE ROUTINE TO GO TO FOR

SCOPE HANDLER . ]

THE *I0T’ TRAP IS USED BY THE °'SCOPE’ STATEMENT.
WHEN *SCOPE’ IS EXECUTED, AN IOT TRAP OCCURS TQ
MEMORY LOCATION *SSCOPE’. YHE SCOPE HANDLER STARTS
AT SSCOPE. DEPENDING ON_ THE SWITCH SETTINGS THE
HANDLER DECIDES TO LOOP ON TEXT, INHIBIT ITERATIONS
ETC. THERE_ARE CERTAIN POINTERS AND FLAGS WHICH ARE
ADJUSTED. THUS, IT IS NOT ADVISABLE TO START THE
PROGRAM AT ANY GIVEN LOCATION SINCE THE VARIOUS
POINTERS AND FLAGS MAY NOT BE CORRECTLY ADJUSTED.

ERROR HANDLER

AN EMT TRAP INSTRUCTION IS USED BY THE ERROR CALL.
THE LOWER BYTE IS ENCODED TO GIVE DIFFERENT ERROR
CALLS. (EX: ERROR | = 104000+1:; ERROR 16 =
104000+16). WHEN THE ERROR STATEMENY IS EXECUTED, A
TRAP OCCURS TO MEMORY LOCATION ’SERROR’. THE ERROR
HANDLER IS LOCATED AT 'SERROR’. THE HANDLER FORMS
THE POINTER TO ERROR TRBLE, WHICH IS USED IF AN
ERROR MESSAGE IS TO BE TYPED OUT. DEPENDING ON THE
SWITCH SETTINGS, A DECISION ABOUT HALTING ON ERROR,

&IC TEST 1 MACYL! 32(1046) 06-JUN-77 14:40 PRGE 1.
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INHIBITING TYPEOUT, LOOPING ON ERROR ETC. IS MARDE.

(ol 8 TRBECRC SIS Lot EEHL 9

iC.H CONTROL RESET ROUTINE

THE CALL FOR THIS ROUTINE 1S “CNT.RESET" AND_ IS

AN
EYERO%Ey THE" collROCREE: bLPIne CBTaRING AF

“CN.RST” IS ENTERED. R CONTROL RESET IS ISSUED ARND
THE PROGRAM WAITS TILL THE CONTROL RERDY SETS, ON

WHICH THE ROUTINE IS EXITED. IF CONTROL READY DOES
NOT SET WITHIN R CERTAIN TIME AN ERROR IS REPORTED.
THE  PC _ TYPED OUT IS THE LOCATION WHERE THE
"CNT.RESET" CALL IS LOCATED. THE WRITING TIME IS
SESORQS FOR 1120 AND SB0 US FOR 11/45 WITH BIPOLAR

1C.5 CONTROL READY ROUTINE

THIS ROUTINE IS CALLED BY "CNT.RDY” (AN ENCODED
*TRAP' INSTRUCTION) AND IS LOCARTED AT "CN_RDY”. THE
ROUTINE WRITS FOR THE CONTROL READY TO SET AND WHEN
IT DOES, EXITS OUT. IF CONTROL READY DOES NOT SET
WITHIN A’SPECIFIED TIME AN ERROR MESSAGE IS GIVEN

CNTRL RDY DIDN’T SET
PC = XXXXXX RKCS = YYYYYY

THE PC IS THE L.OCATION AT WHICH THE “CNT.RDY" CALL
IS LOCATEC. THE WAITING TIME IS 949 MS FOR 11-20
AND 183 MS FOR 11/45 WITH BIPOLAR MEMORY.

10.6 TIME DELAY ROUTINE

THIS RQUTINE PROVIDES A VARIABLE TIME DELRY. _THE
CALL IS DELAY N WHERE N=1 TO 177777 (OCTAL) TIME
DELRY PROVIDED- 7.5 TIMESC X ) N MICRO SECS FOR
11,20, 1.S5N US FOR 11,45 (N CONVERTED TO DECIMAL
BEFORE COMPUTING DELAY) IF THE USER WANTS TG ~CHANGE
THE DELAY AT ANY POINT IT CAN BE DONE BY SIMPLY
CHANGING VARIABLE °N°.

:0.7 OTHER ROUTINES

EEEQE ARE OTHER COMMONLY USED ROUTINES RS LISTED

STYPE:

TYPE ROUTINE FOR TYPING OUT RSCII STRINGS.
LOCRTED RT "STYPE”
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CALLED BY "TYPE™

STYPOC:

ROUTINE FOR TYPING OUT OCTAL NUMBERS.
LOCRTED AT “STYPOC”

CALLED BY "TYPOC"

STYPDS:

ROUTINE FOR TYPING OUT DECIMAL NUMBERS.
LOCARTED AT “S$TYPDS"

CALLED BY "TYPDS"

SERRTYP:

ROUTINE FOR TYPING OUT ERROR MESSRGES.
LOCARTED AT SERRTYP

CALLED BY "JSR SERRTYP"

SPWRON, SPWRUP:
ROUTINE FOR HﬂNDLING POHER FAILURE /POWER UP.
LOCATED AT SPWRDN, SPWRUP

SPWRFL, CALLED WHER THERE 1S A POWER FAILURE.
SPWRUP . CALLED WHEN THERE 1S R POWER UP.

11.0 UNEXPECTED TIMEQUTS AND RK1! INTERRUPTS

WHEN AN _UNEXPECTED TIMEOUT OCCURS, THE PC AT WHICH
TINE OUT OCCURED IS TYPED QUT AND'THE PROGRAM HALTS.
éSN%INag INTACT, IT CAN BE RESTARTED BY PRESSING

IF AN UNEXPECTED RK11 INTERRUPTIOCBURS THE PROGRAM
TYPES OUT THE PC AT WHICH THE INTERRUPT CAME IN AND
THEN HALTS. PRESSING CONTINUE WOULD RESTART_ THE
PROGRAM FROM BEGINING. Sk 9- LOOPING CAPRBILITY IS
PROVIDED AS A TROUBLE SHOOTING RID.

12.0 QUICK VERIFYING MODE

THE FIRST PRSS OF THE PROGRAM IS A QUICK VERIFYING
MODE. ALL THE TESTS ARE DONE ONLY ONCE, ON
SUBSEQUENT PASSES THE TESTS ARE ITERATED _(NORMALLY
S0 TIMES, S IN SOME CRSES). THUS THE FIRST PASS
TAKES A _SHORTER TIME TO COMPLETE, WHEREAS SUBSEQUENT
PQS:ES TAKE MORE TIME.

[§ AL AL M1 a4
R am
SO0 - JITN
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TITLE  MD-11-DZRKI-E, RK11 BASIC LOGIC TEST I
:#COPYRIGHT (C) 1974,1977
lDIGITﬂL EQUIPMENT CoRP

MAYNARD, MASS. 01754

lPROGRﬂH BY JIM KAPRDIR

iTHIS PROGRAM WAS ASSEMBLED USING THE POP-11 MRINDEC SYSMAC
*PQCKQGE (MRAINDEC-11-DZGRC-C3), JAN 13, 1977.

: Jnnuan 1975
"SBTTL OPERRTIONRL SWITCH SETTINGS

X

:: SWITCH USE

K 18 HALT ON ERROR

o 14 LOOP ON TEST

o 13 INMIBIT ERROR T

i 12 CYCLE ON ERROR TO PREVIOUS *CIOPE" STHTEMENT
o 11 INHIBIT ITERATIONS

W 10 TESTING ON SIMULATOR

o 9 LOOP ON ERROR

] 8 LOOP ON TEST IN SWR:7:2:

g AY
: #PROGRAM REVISED BY TOM SAWYER, MARCH 1378 *

+¥REVISED BY CHUCK HESS, AUGUST 1376
fi}}i}iii}}ii}i}i{iil}i}il}iii}iiili}*iiilili{}i:;ifigiiiiifff

:YOU ARE ADVISED TO RERD THE DOCUMENT BEFORE USING THIS PROGRAM.
:ON GETTING AN ERROR REFER TO THE LISTINGS AT THE PC POINTEC
:QUT IN THE ERROR MESSAGE. ADJACENT ERROR MESSAGES IF FOLLOKEC
:CAREFULLY COULD LERD TO AN ERSY PINPGINTING OF THE FAULT

SEEEEEREEEREE AR R R R R AR R R R AR R AR R 2000
'SBTTL BASIC DEFINITIONS

*INITIR&lggﬁﬂESS OF THE STACK POINTER ### 1100 %

871ACK=
CEQUIV EMT,ERROR . :BASIC DEFINITION OF ERRCR CALL
.EQUIV IOT,SCOPE : :BASIC DEFINITION OF SCOPE CAuL
; MISCELLANEOUS DEF INITIONS
1= 11 :CODE FOR HORIZONTAL TAB
LF= 12 .,coos FOR LINE FEED
CR= 15 !CODE FOR CARRIAGE RETURN
CRLF= 200 .coos FOR CARRIAGE RETURN-_INE FEEC
PS= 177776 ' {PROCESSOR STATJS WORD
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“C-11-DZRKIJ-E. RR1l BASIC LOGIC TEST I MACYLl 3011046) D6-JUN-77 14:40 PAGE IS
SIRKIE.PIL19-APR-TT 09:14 BRSIC DEFINITIONS
2% honre, STKLMT= 177774 :STACK LIMIT REGISTER
Ny e PIRQ= 177772  {PROGRAM INTERRUPT REQUES” PESIZTER
) 1275793 OSWR= 177570 ,.HQRDNRRE SWITCH REGISTER
02 177873 0DISP= 177870 ' HARDWARE DISPLAY REGISTER
3. ; 1GENERAL PLRPOSE REGISTER DEFINITIONS
P 00000C Ag= ; ;GENERAL REGISTER
g B I P
P 205003 R3= %3 ..EENE GISTER
~3€ 000004 R4= 74 ' GENERAL REGISTER
R 000005 RS= %5 } iGENERAL REGISTEP
n3e 000006 RE= 23 ,,GENERRL REGISTER
T3 000007 R?= W ; GENERAL REGISTER
™2 N0G026 SP= % »:STACK POINTER
R 9900C" PC= W ; 1 PROGRAM COUNTER
s
T3 . #PRIORITY LEVE. NFFINITIONS
TS 00059C bRO= D . :PRIORITY LEVEL 2
~u4s 500048 PRI= 40 L IPRIORITY LEVEL 1
SE £asan PR2= 130 ' 'PRIORITY LEVEL 2
PN 0OC14C PR3= 140 ' PRIORITY LEVEL 3
4g 000203 PRH= 200 : 1PRIORITY LEVEL M
™43 Acgua PRS= 240 :PRIORITY LEVEL S
752 003305 PR6= 300 :iPRIQRITY LEVEL &
e 302347 PR7z= 340 :PRIORITY LEVE. T
k| . 2"SWITCH REGISTER™ SWITCH DEFINITIGNS
P 190300 &u13=" 100000
TES 40200 SWi4= 40000
T5E 029008 SWi3= 20000
757 010003 SWi2=  1000C
758 204960 SWil= 4000
7€9 502000 SWig= 2000
7E3 001002 SWpg=  10C0
7E: 000400 SWoB= 400
762 990200 SWe7= 200
763 50010C SWgb= 100
764 000040 Swgs= 40
78S 0acac SWod= 20
e 980G:C SWi3= IO
PE7 £00004 SW2= 4
7E8 950002 SWii= 2
TE3 203001 SWaC= 1
Toe JEQUIV  SW03,5Wd
7. -EQUIV  SWO8, Sue
Tz .EQUIV SWO7,SW?
0z .EQUIV SWOB, SWb
77 JEQUIV  SWOS, SWS
POE JEQUIV  SW0Y, w4
T "EQUIV  SW03,5W3
oG, _EQUIV  SwW02, SWe
e "EGLIV  SWCL,SWI
2 .EQUIV 500, 5W0

=2 .#CA"4 BIT DEFINITIONS (BITO2 "0 BITIS
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MACYL1! 3001046) Ob-JUN-77  14:40 PRGE 18
BARSIC DEFINITIONS

BITiS= 100000
BITi4= 40000
s T13= 2000
vi2= 1000
BITli= N400C
BITi0= 2000
BIT0S= 1000
B = NOC
BIT0?= 200
BITO0e= 100
BITOS= 40
BIT04= 20
BIT03= 10
EIT02= N
BIT0l= ¢
BIT00= |
EQUIV BIT(09,38I79
.EQulv BIT08.BIT8
.EQUIvV BIT07?,BIT7
EQUIV BITD6,BITHE
.EQuIv B]IT0S,BITS
.EQUIV BITO4,BITH
.EQUIV BIT03,BIT3
.EQUIv BIT02,BlT2
LEQUIV BITQL,BIT]
.EQUIvV BI"30,BITC
-#BRSIC “CPU™ "RAP YECTNR ADDRESSES
ERRVEC= Y4 ::TIME OUT AND OTHER ERRORS
RESVEC= 10 ;RESERVED AND ILLEGRL INSTRUCTIONS
TSITVEC=1Y4 .1 BIT
TRTVEC= [N ; : TRACE TRAP
BPTVEC= M4 ; ; BRERKPOINT TRAP (BPT)
I0OTVEC= 20 +: INPUT/QUTPUT TRAP (IOT) ##SI0PE##
PWRVEC= 24 : ; POWER FARIL
EMTVEC= 30 ::EMULATOR TRAP (EMT. ##ERRJR#»
TRAPVEC=34 ;" TRAP” TRAP
TKVEC= &0 ::TTY KEYBORRD VECTOR
TPVEC= &Y :;17Y PRINTER VECTOR
PIRQVEC=240 : ; PROGRAM INTERRUPT REQJUEST VECTCR

.SBTTL TRAP CRTCHER

.=0
-#ALL UNUSED LOCATIONS FROM 4 - 776 CONTRIN R =, 42 ML T™
: #SEQUENCE TO CATCH ILLEGAL TRPPS AND INTERRUPTS
- #LOCATION quONTQINS 0 7O CRTCH IMPROPERLY LORDED VECTORS

DISPREG: .wCRD O ; : SOFTWARE DISPLAY REGISTER

SWREG: .WORD @ . ; ; SOFTWARE SWITCH REGISTER

.SBTTL STARTING_RDORESS(ES) .
Jue J8START ;; JUMF TO STARTING ADDRESS OF PRCGRRM

.SBTTL ACT11 HOOKS

c EPERRERERFAFRAEREREPRRERR PR AN LR R SRR R AL R FRRRERA DR RRRR PRI AR ERS

:4COKS REQUIRED BY ACTII
§S.PC=. :SAVE B¢



Mo-dl -.Rn.-E. Rkil BRSIC LOGIC TEST | MACYLI 30:1046) 06-JUN-77 [4:40 PAGE (7

&

N 19-APR-77 39: 14 ACT1L MOOKS
838 000046 . 246 )
gig oo $E3QA0 ::1)SET LOC.46 TO ADDRESS OF SEMCAC '+ .§E:E
-1 22082 390000 "WORD O 12)SET LOC.52 TC 2ERC
343 00204 =§SVPS ;i RESTORE PC
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oLy IaSkI-E, Ok 1l BRGIS LOGIC TEST I MACYLL gotloqs) 06-JUN-TT 14:40 PAGE 18
SlelleTEr 13-AFR=~2 397 1Y COMMON TRGS
g:; .SBTTL COMMON TAGS
996 : ;ll!l!!lllilllll!llllilil’iiiilillfllliliiililliililiiii!’fiif90
gur : #THIS TABLE CONTAINS VARTJUS COMMON STORRGE LOCATIGNS
g:g : #USED IN THE PROGRAM.
g5c aclioe .=1100 )
851 001100 SCMTAG: . :START OF COMMON TAGS
852 001130 00000C §PRSS: .WORD O : :CONTAINS PRSS COUNT
853 201102 000 §TSTNM: .BYTE O : :CONTRINS THE TEST NUMBER
2y 301103 o] SERFLSG: .BYTE O ::CONTAINS ERROR FLRG
855 001104 060000 SICNT: .WORD O : :CONTRINS SUBTEST ITERATION CCUNT
g6 001106 00C020 SLPRDR: .WORD O : :CONTRINS SCOPE LOOP ADDRESS
857 0Ci117 000002 SLPERR: .WORD O : 'CONTRINS SCOPE RETURN FOR ERRJRS
958 001112 0000C0 SERTTL: .WORD O : 1CONTRINS TOTAL ERRORS DETECTEL
959 31114 000 SITEMB: .BYTE O : CONTRINS ITEM CONTROL BYTE
860 0C111S 901 SERMAX: .BYTE | : 'CONTRINS MAX. ERRORS PER TEST
86! 00ill6 000000 SERRPC: .WGRD 0 1:CONTRINS PC OF LRST ERROR INSTRUCTIZH
862 001120 00090C SGDADR: .WORD 0 : :CONTRING ADDRESS OF ‘GOOD' DATA
863 001132 00000C §BDADR: .WORD 10 : \CONTRINS ARDDRESS OF 'BRD" CATA
864 0OCI124 000000 SGODAT: .WORD O : :CONTRINS ’*GOOD" DATA
865 001126 0 SBODAT: .WORD O ::CONTRINS ’BAD’ DATA
3e6 901130 000000 'WORD 9 : : RESERVED--NOT TO BE USED
867 001132 005 JWORD 0
268 N01IM 500 $AUTOB: .BYTE O : ;AUTOMATIC MODE INDICATOR
363 001135 n00 3INTRG: .BYTE O ;. INTERRUPT MODE INDICATOR
820 00113 30G09C JWORD 0
g°1 001140 177570 SWR: .MORD  DSWR : : ADDRESS OF SWITCH REGISTER
g72 00ll42 17757 CISPLAY: .WORD DDISP . :ADDRESS OF DISPLAY REGISTER
873 0O011M4 177560 $TKS: 177580 ::TTY KBD STATUS
874 0014 177BE2 §TKB: 1T7See S TTY KBD BUFFER
875 001150 177564 §TPS: 177564 ::TTY PRINTER STATUS REG. RDDRESS
g7 001182 I7TTeE 3§TPB: 177866 S TTY PRINTER BUFFER REG. ADORESS
g~7 2301154 200 §NULL: .BYTE O : :CONTRINS NULL CHARACTER FOR FI_LS
378 00118% 80z SFILLS: .BYTE 2 . :CONTRINS 8 OF FILLER CHARRCTERS REJ.IRET
879 J01!5¢ 312 §FILLC: .BYTE l& ::INSERT FILL CHARS. RFTER A ~LINE FEES" _
88C 2C..E 200 §'PFLG: .BYTE 0 : I“TERMINAL AVAILABLE™ FLRG (BIT«07»=0=£3
2g. 00::82 00000C SREGAD: .WORD 2 : .CONTRINS THE ADDRESS FROM
862 ::WHICH (SREGO) WAS OBTAINEC
883 J0l.e2 0000QC SREGO: .WORD O :: CONTRINS ( (SREGRD)+0)
gey JC!1e4 90000C SREGl: .WORD 3 : :CONTRINS ( (SREGRD)+2!
8gc 1016k SREG2: .WORD O ::CONTRINS ((SREGRD)+1)
28t 30170 000002 SREG3: .WORC O ::CONTRINS ((SREGRD)+6)
8T 001172 000200 SREG4: .WORD O : :CONTRINS ((SREGRD)+10)
a6 JC1174 00000C SREGS: .WORD 0O : ICONTRINS ((SREGAD)+12:
289 0CIi7e 00CC0C SREGE: .WORD 13 : ;CONTRINS ((SREGAD)+14)
83C 00.20C 000CCC SPEG7: .WORC C ' :CONTRINS ((SREGAD)+1b)
e9. 001202 0030aC $REGIO: .WORG ¢ : CONTAINS ((SREGAD}+20)
532 201204 0000060 SREGIl: .WORC O : 1CONTRINS ((SREGAD)+22)
833 001226 000COC STIMES: O : :MAX. NUMBER OF ITERATICNS
33+ 0Ci217 00000C SESCAPE: 0 : \ESCAPE ON ERROR ADDRESS
23 2C12.2 ot 3QUES: .ASCII /7~ : 'QUESTION MARK
S% ZJCiEld 31g §CRLF: .ASCIT 1S : 1 CARRIAGE RETJRN
£3° Zll2i4 ool 3LF: JASCIZ <12 ::LINE FEED
= . iiii!!lilfil}iil(iiiiii!ifiiiii!!iillllliliil}if!fiifi!if”!#*#o
223 Coozie ocoEois ceminzoolzlizs W53 ASCIZ O 15. i2 INT RCY DIDN'T SET
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camDIRRC-E, QML) BRSIC LCSGIZ TEST 1 MRCYIL 3CUIOME.  D06-JUN-TT IM:40 PAGE 18
MRLTINE S 193-APR-T7 29: 14 <OMMCN TRGS
T8 ZliZ24 M2lee 030131 JNNS0Y
. 22:.2 047129 082047 OS14M3
322 Zo.242 082108 81318,
C3 2C.244 .EVEN
04
3C< :RK1} REGISTERS
3C6 :IF FOR ANY REQSON THE REGISTER RUDRESSES ARE DIFFERENT f RJF THESE
327 < (GIVEN % HE CONTENTS OF THE RPPRCPRIARTE POINTERS SHOULL 2E
928 HODIFIED 0 TﬁRT THE CORRECT ADDRESS IS USED.
2.0 .EVEN
911 001244 177400 RKDS: 177400
312 001246 177402 RKER: 177402
913 00:250 177404 RkCS: 177404
9184 001252 177406 RKWC: 177408
915 001254 177410 RKBA: 177410
Sl 00156 1774.2 RKDR: 177412
317 00.260 177416 RKDB: 1774l1%
313
gg? : TRGS AND GENERAL DARTA AREA
Ce H
aag :
354 Q0126 00000C FTITLE: O :FLAG FOR PRINTING PROGRAM TITLE
925 001264 0CA000 TIMER: O :TIMER REGISTER
32& 001268 00020C RKPRI: 200 :CONTAINS THE CPU LEVEL AT WHICH
: RKll NORMALLY INTERRUPTS. THIS WORC
329 'SHOULD BE CHANGED IF RK1i IS DESINGRTEC
25 :A BR LEVEL OTHER THAN 5. E.G. IF IT IS CHAMNGES
330 _ :1C 6, THIS WORD SHOULC BE CHANGED TO 2u4C.
93! Q01270 CJCl2zC RekVES: 220 FCNTAINS THE NORMAL VELTOR HADDRESS 10 WH-Clr
:RK1! INTERRUPTS. IF THIS IS NCT S0, CHANGE

]
lu;\l

'THIS WORD "0 CONTAIN MIDIFIED VEZTOR Ac-cess.
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[ NIRRT TINTN]

D NN g
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iy
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BRAEELILY

DWW \l‘\l;ll;\u
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Rttt It |

Dl DD
oD -3-3°
<000

N]1a¥ 14

\D\D;ﬁ\
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Nt

[S IV
o m
NYTiL

VIl

3ali ERRGR PIINTEE “ABLE
_SBTTL ERROR POINTER TABLE
. «THIS TABLE CONTAING THE INFORMATICN FOR EACHM ERROR THAT CaN S___F.

TeTHE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUNC 1%
'+ OCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE THBLE I3 SE&71%z.

S eNCTEL: 1F STTEMB IS O THE ONLY PERTINENT DATA_IS ‘SERRS:
L eNCTER: EACH ITEM IN THE TRBLE CONTRINS 4 POINTERS E+B_AInEL 22 SI__ ..
. EM . :PCINTS TO THE ERROR MESSAGE
e OH ' :POINTS 70 THE DRTA HEADEF
e 01 ' IPOINTS T0 THE DATA
Pe OF t:POINTS 19 THE DATA FORMA™
ol $ERRTS:

" JSED IN THIS PROGRAM. AN ERROR CAL. IN THE PROGRAM CORRESPONCS
S*HE ITEM NUMBER IN TeE ERROR TRBLE. THUS 'ERROR 1° IN “HE

PROGRAM CORRESPONDS TO "ITeM 1’ IN THE ERROR TRBLE.
‘“EMsss’ IS THE POINTER TO THE ERROR MESSAGE WHICH WILL SE TYPEC
20T IN CASE THAT ERROR WERE TO OCCUR. THUS FOR °ERRCR 1° Trt ERRCR

;MESSAGE TYPE QUT HI*t B$ 'TIHEHSHB SN RK]1 RE?'. I
*OHs#s’ IS THE POINTER TO THE ER BLOCK WHICH WILL BE "YPEC 3.7
: IMMEDIATELY AFTER THE ERROR MESSAGE.

."OTsss’ SERVES Q5 A POINTER TQ THE MEMORY LCCATIONS WHERE

'THE INFORMATION RELEVANT TO THE ERROR TYPE JU™S (LIKE PC, SCINTENTS
:OF RKCS ETC.) WILL BE PICKED UP FROM.

STHE LAST ROW CONTRINING ’0* SERVES RS A TERMINARTOR.

:EXAMPLE ¢
'TF ON RUNNING THIS PROGRAM A TIMEQUT WERE TO OCCUR ON ADCRESSING SxCiS
s 177400}, BECAUSE OF SOME FAULT, THE FULOWING TYPESUT WOULD
:0CCUR ON THE TELETYPE.
: TIME SUT ON RK1i REG
pC REG
: sanins 177400
"NOTE THAT msssss WOULD BE THE ACTUAL PC WHERE 'ERROR 1" IS (OCATEC.

. THE ERROR MANDLER IS LOCATED AT *SERROR'. THE ERROR CALL 1S AN oE

INSTRUCTION WITH ITS LOWER BYTE ENCODED 7O PRCVIDE INDEXINa "o =&
:ELEHS Ig TSE ERROR TABLE.

. THE ERROR ITEMS TABLE CONSISTS OF AL. THE POSSIBLE ERROR MESSAGES

S 'ERRQ 1 1S 104001
*ERRJIF 126 IS 104126 ETC.

(ERRCR ITEMS TRBLE
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wroi-coRNI-E. RRil BRSIC LOGIC TEST 1 MACYL: 30.1046. 0B-JUN-T7 14:40 PRGE 21
13-aPR-7" 09: 18

s3eklEL Bl ERROR POINTER TABLE
390 JITEM L
393 9z:272 01033% ENl -TIME OUT ON RK!! REG
a5 RisEe 3NR OM1 ‘et~ " REG ’
394 7217k 0.1 Tl : §ERRPC SREGC
396 3C:30C 000930 c
996
33; JITEM 2
999 i 010370 £M2 REGISTER NOT CLEARED
13sls o ~11566 OH2 gl REGADD RECWE
30 001 C1:504 D12 'SERRPC SREGD  SREG!
1352 001318 000000 0
1063
1004 JITE™ 3
508
:gg; ggiaxa n1°415 £M3 .RKCS ERROR
: 1318 3iTes3 O3 :pC WROTE  READ
‘308 OCi31e Q.1504 pT2 '§ERRPC SPEGD  SREG!
;ggg AC:320 202000 0
Zgié ITEM M
1A13 201322 010M3C EMY .RKCS ERROR-ON Wki:.NG READ ONLY BITS
TR 001329 0!lels DHY4 :PC EXPCT  RECVC
3% Q01326 011504 T2 ‘§ERRPC SREC"™  SREG!
;;;g 001336 00000C )
ade
;Eég :2TEM S
1020 001332 010475 EMS -BUS INIT DID NCT CLEAR RKCS
1921 OC133™ O01le72 OHS :PC RECVD
1092 0Ci33 C1id7h nTl : SERRPC SREGD
1023 001340 Joooee 0
1024
4% (1TEM B
1087 7201342 5.0831 EME . *CNTRL RESET' DION'T C_EAR RkiS. ON SETING &2
‘028 001344 011670 OHE :p¢ REZVD
1029 30136 011476 0Tl $ERRPC SPEGO
eggg 001360 10000C 3
;gga; CITEM 7
103N 001352 010607 EM? .*ZNTRL RDY' DIDN'T SET AFTER CONTRCL RESE™
103 901364 Ql2ze. O30 :PC RKSS  RKER RKDS
3 881 611534 0726  :SERRPC SREGO SREGI  SREG?
ok} 1 A000CC 5
133
1339 SITEM 10
241 201382 01085E EMIC  :REGISTER "OT CLEARED
2wg 301364 DilSke OHe :PC REGADD RECVC
-:*j o13e 11X SYE ‘§ERRFC SREGO  SRESI
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=% 1440 PASE 22

e BB T TEST L R A

124 JITEM 11

1247

1Ay 1372 01070 M :RKWC ERRQR

18;5 §§1§75 Bi?? guif ;Bc X HSOTE READ

1 1378 0115 T :§ERRPC SREGO  SREG!

081 DOIN400 000000 0

082

1053 ITEM 12

i 14 1144 M43 UNEXPECTED Rk!l INTERRUPT

s e 81*7 Hel ;3?

1057 001406 (11530 0121 : SERRPC

1368 001412 00000C 0

1089

1966 (ITEM 13

1 1412 g1c7 M123 :RKBA ERROR

: 419 BT H1T :PC WROT  READ

1264 QClI416 011504 DT2 SERRPC SREGD  SREG!

1065 7201420 000000 c

1066

}823 CITEM 1M

1069 Qol422 01073! EMIY :CNTRL RESET DID NOT CLEAR REGISTER
1070 001424 D11566 OH2 ;P REGADD RECVD

1571 001426 C11504 pT2 SERRPC SREGC  SREG!

ig‘ga 001430 00000C 0

g7 JITEM 1S

1078

;076 001432 010773 EMIS :RKDR ERROR

1877 00143 011706 DM :PC WROTE  REARD

1078 001436 0115C4 D12 !ERRPC SREGO  SREG!

1079 001440 000cec 0

1080

1081 ;ITeEM 16

1082

1083 001442 01:321 EM26  ;RKCS ALTERERED ON CLERRING 'REG-BYTE®
c08M  OCi444 0l2if? DH2b PC REG-BYTE (RKCS)EXP (RKCS)RECND
:08S 001446 0.iS534 D728 SERRPL SREGO  3REGI SREG2

186 00I4SC 000000 2

1087

iggg JITEM 17

109C 00l1+4S¢ 0:100t EmMi7 :BUS INIT DIDN'T CLEAR REGISTER

1091 J0i<S4 011566 DH2 PC REGADD RECVD

1092 00!48e 01l 0T :$ERRPC SREGO  SREG!

1093 00:!460 000000 8]

1094

ig% ;ITEM 20

1297 0i+462 211i04e EM20 : ADDRESSING ERRCR-TRIED TG ARDDRESS REG!, GST REGE
'.3% 001464 01174C H20 FC REG! REG2 \REG!L) kREQE)
.3J 20iske OlISiN D120 SEPRFC $REGD  SREG! SRE’E $REG3
siol 1477 0Go0oC G

g
3
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Crmem e 61- LOGIC TEST 6) Ob-JUN-77 14:40 PRGE 23
SUqegoaRh I vE. Brid BBSIN LOQIC TEST 1 HARUAL a0\ {Pd64 o 0p

.102 JTEM 21

:103 .
e ENZ7  ;TRIED TO CLEAR 'REG-BYTE', CHANGED "REG-BYT2

gt gelace BN OHer  :PC REG-8YT1 Re&-8Y BYT2-EXPCT BrT2-RECVC

1% W17 BAASAS preo ' SERRPC SREGO snsc‘ SREG2 SPEG2

'g S

i@?g ITEM 22

1111 DOIS02 011123 EM22 ;DD NOT CLERR RKCS LO BYTE

e i e (G W B

IH l'rl T2 : SERRPC

1ijs

ﬁ{g ;IEM 23

1116 001512 011156 EM23  :DID NOT CLEAR RKCS WI BYTE

tsd fRtetd Bitéha B iBkeeec BREED  BREND

1121 001520 0000CO 0

152 TEM 24

11 ) . )

'BYTE'. CHANGED 'PESIS

HE miss e GR1 OIS0 TR BT BB U

1127 001526 0115:4 0720 sennpc SREGO SREG] SREG2  SREG3

128 001530 000000 0

i@gg JITEM 25

1132 001532 011286 EM2S  :FAILED TO CLEAR ‘REG-BYTE’

1133 001534 01206l OH2S  :PC REG-BYTE RECVD

1134 001536 011504 072 "SERRPC SREGO  SREGI .

1136 001840 00000C 0

113

H

1139 A .

LG ooIste oooocs ST ?E?TIALIZE THE COMMON rRbSERR THE BUS

- - 1N

: [2CLEAR THE COMMON TAGS (SCMTAG) AREA

1198 ooicws 012706 00100 CLEAR THE COMMON T9R2 Re-T " .“FiRsT LOCATION 70 BE C.EAREC

1i44 001550 005026 CLR TRE) + | }iCLEAR HEMORY LOCATICH

{}3; J0igee georob COLIY (NP SER.RB :DOME” | 0P BACK IF NO

r's

114 B0 012706 ©£O01100 MOY $STACK sp :1GETUP THE STACK POINTER

1%48 001560 Dle7oe €O .INITIALIZE A FEW VECIOR

1149 00ISe4 012737 0O0Se42 000020 MOV $$5COPE acxorvsc { 10T VECTOR FOR SCOPE ROUTINE

t23 184 DBis737 398345 D0oose MOV 8340, a1 0TVEC+2

1i€] 001600 012737 006114 000030 MOV §SERACR, Q8ENTVEC | ;EMT VECTOR FOR ERROR ROUTINE

i;sg goie0c D173 Q00340 D000 oy SSTRA "‘2¥¥ES$E %ngp VECTOR FOR TRAP CAL.S

tied BRiedd Rie7e7 AQ0%R QORRY MOV M ab?nnpvzc+§ ( EvE

118 001630 Olo7%7 0101SH 00D0RY MOV lSﬁgﬁDNpaangz%C ;Cpausn FAILURE VECTOR

58 DRIpR Re7d gR033p (0O0D2E moy e - Nl 120 NUMBER OF ITERATIONG
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012737
012837

023737
001416

Q0sega?
001043
104401

005737
001006
023727
001005
104406
000403
112737

000424

a1e737
012777
Qoosit

011600
00s74C
022626
104401
00C417

aIC TECT |
fgLQglc

001210

001744
000176
000174
000004

000g42
177777
00204C
0cog42
001140

0000C!

002126
0Cezie

002142

001115
0Ci136
CCill0

0oCl7e

001134

000004
177144

LO=
1M

MACY 2.1046) 06-JUN-77 <40 PAGE 24
31&&L?2£ QHE COMMON TAGS

CLR SESCAPE :CLEAR THE ESCRPE ON ERROP ACCRESS
MOVB 81, SERMAX ALLOW ONE ERROR PER TEST
MOV 8. .SLPADR INITIRLIZE THE LOOP QODRESS FOR SICPE

FO8' A Hnnouhak Euxrcu REGISTELUP " ERgSUNbOSP fLati

::SIZE

SiEQUAL TO A ™ 1;,€3Rrg roapn sorrgnge SSI;CHEg$GISTER
MOV 8ERRY ) 5 9AY v
ngv 8648 athRvé ,.E uE Snon vsgqon
MOV 80SWR, SWR TUP =on A HARDWARE SWICH REGISTER
MOV 80D15P, DISPLAY .,nno A HARDWARE DISPLAY REGISTER
CMP -1, JSUR :TRY TO REFERENCE HAROWARE SWR
BNE 668’ annncn IF NO TIMEOUT TRAP OCCURREL

!'AND THE HARDWARE SWR IS NOT = -1

BR 65% :1BRANCH IF NO TIMEOUT

64S: g$¥ 8658, (SP) ,.ssr UP FOR TRAP RETURN

65§ : MOV 8SWREG . ;POINT TO SOF TWARE SWR
MOV soxspntc oxsan

66S: MOV (SP)+,dsERRVEC ::RESTORE ERROR VECTOR
cHP 842, J84b :ARE WE IN nc711 AUTOMATIC MOCE®

698 :IF YES, SKIP TITLE

BEG
SBTT TYPE PROGRAM NAME
:TYPE THE NAME OF THE PROGRARM IF FIRST PASS
INC 8-1 ;sFIRST TIME?

BNE s7s annncn IF NO
YPE YPE RSCIZ STRING
.SBTTL GET anut ron SOF TWARE sﬁiTcn REGISTER
15T 142 £ WE RUNNING UNDER XXOF Ri™"
BNE sqs ::BRANCH IF YES
cMP SWR, $SKREG ..sorrunne suxrcn REG SELECTEC®
BNE 708 ..aanucu IF N
g;sua 208 :GET SOFT- :un SETTINGS
69§: MOVB  81,$RUTO8 ;:SET AUTO-MODE INDICATOR

708:
BR 678 :GET OVER THE RSCIZ o
67&83 .ASCIZ <CRLF>/RK]1l LOGIC TEST 1/¢15>¢12> /MAINDEC-11-DZRKI-E CWCF

LTRRTL: MOV $8ADTMO, I8 -§§§5765$5°“T VECTOR FOR UNEXPECT
MOV 8BADINT . IRKVEC :SET UP RK}! INTERRUPT VECTOR FOR
DIN © DN Egrsé INTERRUPTS FRGM RKil
BR 1ST1 160 To TE

:THIS ROUTINE HANDLES UNEXPECTED TIME OUTS
BROTMO: MOV (S5P) RO ;SAVE PC WHERE TIHE OUT OCCURED

TST -1r0}

CMP (SP)+,(SP)+ RESTORE srncx POINTER
TYPE 65§ :: TYPE RSCIZ STRING

BR E43 :1GET OVER THE RSCIZ
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002236
002242

002254
002254
002256

002260
002266
002270
002272

002276
002304
002306
002310

goz2312

002318
002316
0023e2

002346
00234¢

1

ﬂ]‘

010046
104402
00004aC
0oci3”

0116C3
005740
032777
00iCl5
10440]
001213
104401
011443

104401
00040

010046
104402

03277

001403
022626
000177

032777
001401

000092
000000

000137

104401
000411

00S302

(4]

00.:54

0200CC

002244

0010092

176610
040000

001542

002324
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ITETIY

176652

176634

MARCYil 3011046)

MO2

06-JUN-77

14:40 PAGE 25

SET VALUE FOR SOFTWARE SWITCH REGISTER
<15 «12> /UNEXPECTED TIME OUT AT PC=-/

BADINT:

; ; 658:

1 E
gag:

648

3%:

.RSCIZ

MOV
TYPO“
HALT
R}y o

RO, -\SP)

J8START

;SET _UP FOR_TYPING 2UT PC
:GO TYPE OUT OCTAL PC

: THIS ROUTINE HANDLES UNEXPECTED INTERRUPTS FROM R¥l:
:SW 3 AND 10 FOR_LOOPING ON ERROR

:AND LOOPING ON TEST IN WHICH TIMEOUT

:OCCURRED, ARE PROVIDED.

MoV

(SP),RG
-{R0O)
#20000. 3SWR
18

65%
&43
/ AT PC=/

RO,-(5P)

81060, JSKR

(SP}+. (SP)+
3SLPAROR

$400p0, ASKR
39

JUSTART

:RESTART AFTER POWER FAIL
: THE PROGRAM WOULD RESTART HERE IF POWER CAME BRCK RFTER R FALIURE.

PFSTRT:

- <6593

648

TYPE
BR
.RSCIZ
CLR

65%

:SAVE PC WHERE INTERRUPT OCCUREL

: INHIBIT ERROR TYPEQUT?
.VES, DON'T TYPE OLT

; TYPE UNEXPEXTED RK1l INTERRUPT®
TYPE * AT P

t: TYPE RSCIZ STRING

;;GET OVER THE ASCIZ

;SET UP FOR TYPING OUT PC
:GO_TYPE OCTAL PC WHERE BAC
s INTERUPT OCCURED

LOOP ON ERROR?

BRANCH
YES& REPOSITION STACK
:G0 Y0 THE STARTING ADDRESS OF
'THE TEST THAT GAVE UNEXPECTED INTERR.F™
h8°P30N Essrv
:YES, LOOP. GO BACK WHER U INTERRUPTED FRIM.
: UNEXPECTED INTERRUPT OCCURED RS
"INDICATED IN THE TYPE OUT.U CAN LJCP
:ON_ERROR, TEST,OR INHIBIT TYPECUT BY
'SETTING APPROPRIATE SWITCHES.
:GO BACK TO THE START OF THE
:PROGRAM. THUS PRESSING CONTINUE
'AFTER THE ABOVE HALT WILL
‘RESTART THE PROGRAM

; TYPE ASCIZ STRING
GET QVER THE ASCIZ

4§
<15>¢12>/PUR UP, RESTRRT:

RO



MC-11-DZRKJ-E, RK1l BASIC LOGIC TEST |
SCRKJE.PLL 19-RPR-77 J39: 14

1270 002350
3 1 I
1274 002360
1275
1e7s

(¢
5%
1279
1280
128l
1282
1283
iesy
1285

1286
1287

002362
002364
002366

002374

0000CcH
005002
012737

012737
012700
0l27a1
005731

001110
000004

0Ce41e2

002466
177771
001244
0oz41e2

002414
002416
002420
002426
002430
002432
002436

002460
002480
002464
002464
002466
002470
002474

002476
002500
002502

005200
001375
012737
005702
001415
104404
000410

002126 000004

002440

000137

0oo407
022626
014137
104001

00s72l
00Se0e
000744

005370

ao11e2
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002504 000004
000005
012700
012701

023711

177772
001246

002520 001250

NOZ

(.
MACY1l 30(1046) 0b-JUN-77 14:40 PAGE 26
GET VALUE FOR SOFTWARE SWITCH REGISTER

CLR Rl

18: Ri
1

INCB RO

BNE 18

i{iii*lli*li!i!i**i*!**iii!i!!!!!!*ll!iiiii!*i*!!lil!iiiii{ill}
LATEST 1 TEST THAT ALL RK11 REGISTERS CAN BE REFERENCED

:;Eé REE%EDCU§$ SU%FT§V§RY RKII R§?IST§IHE ou? OCCURS THE ERRCR IS

; *REPORTED 8 AN ERROR FLRG (RE) IS INCREMENTED. IT THERE WRS
. ¥AN ERROR DURING THIS TEST, THE ENTIRE PROGRAM IS ARBORTED
N P B I P R R R P PO Y

t&T1:  SCOPE
CLR R2
MOV 7], SLPERR SETESE£”R§ ADRES FOR LUP
MOV .xnour 84 'SET UP RDDRESS FOR TIMEOUT VECTOR
MOV :INITIALIZE RO TO_KEEP TRACK -F REGIS REFERENCED
MOV cRKbs Rl 'INITIACIZE R1 WITH RKDS ADDRESS
T1: ST J(R1+ ‘REFERENCE THE REGISTE
‘IF IT CAN'T BE TIHEOUT TRAP WILL OCCLR
'SHIFT THE POINtER
INC RO :ALL REGISTERS REFERENCED
BNE Tl 'IF NOT, LOOP BACK 8 REFERENCE NEXT REGISTER
MOV $BADTMO. 2#4
ST R2 uns THERE AN ERROR?
BEQ 1§ BRANCH
TYPE £5S ,,T?ps ASCIZ STRING
R 4§ ‘GET OVER THE ASCIZ
éégss: ASCIZ <15><12>,PROG ABOATED/
s IMP $GETY2 :IF YES, ABORT THIS ENTIRE TEST
BR TST2 < EXIT
TIMOUT: CHP (SPJ+, (SP)+
MOV -{R1) | $REGO :GET ADDRESS OF REGISTER THAT TIMED OUT
ERROR 1 Eéﬁ?ﬁ gug WHEN REFERENCING RK11
ST (R1)+ ‘REPOSITION POINTER TQ THE NEXT REGISTER ADDRESS
INC R2 'SET FLAG INDICATING ERROR
BR Ti+2 :BRANCH BACK 8 REFERENCE THE NXT REGISTEFR
Ry Y e Y T P22 2232223222222 3222222222222 L2222 LT L
iTEST 2 CHECK RK1l INITIALIZATION
: ¥THIS TEST CHECKS THAT THE CONTROLLER LOGIC IS INITIALIZEC
;¥CORRECTLY, RKWC, RKDA, RKDA, RKDB_SHOULD BE CLEAR AND
" ¥RKCS SHOULD HAVE "CNTAL ROY! BIT SET
{!l*l*illllll*l**{l********l*i***lllll**********i!l**i!ii*iiiii
t&T2:  SCOPE
RESET ISSUE A BUS INIT
MOV $-6, R0 'SET COUNT FOR b REZISTERS
MOV $RKER, R1 :INITIALIZE ADRES
18: CMP RKCS, 3R] 1S IT RKCS®
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19-APR-7" 09: | \F “MECK Rk11 INITIALIZATION
001005 BNE 2 NO
022771 00C200 0000CC MNP 8200, 3(R! . 'ONLY BIT 7 OF RKCS SMOULG BE SE™!
06 1004 BNE 3$ "BRANCH IF ERROR
000411 BR 4
00S~71 000000 2s: 57 J(R1) g:ECEL%HQT REST OF REGISTERS
001406 BEQ 4§ BRANCH IF REGISTER IS CLR
011137 0Cl162 38: MOV 3R] SREGD :GET RDRES OF REGISTER
017137 000000 0G1leM MOV 3(R1), SREG! :GET CONTINTS OF REGISTER
104002 ERROR 2 'RK11 REGISTER WAS FOUND TG B NCT I EAS
005721 4s: 157 (R1)+ " INCREMNT POINTER TO NXT REG
g0523¢ INC RO 'CHKD ALL REGS”?
001 354 BNE 18 :IF NOT LUP BAK
!lil!iilliiiiii!ilwlilii!iiI'liillliiiiiillifliiiiiiif!llilifliii
TETEST 3 TEST RKCS FUNCTION BITS - 1,2
. #THIS TEST CHECKS IF THE FUNCTION 911 3 IN RKCS CAN BE WR
*¥READ BACK. RO CONTAINS THE BIT THAT uAs WRITTEN. Rl CONTA!
'3BITS THAT WAS/WERE READ BACK.
!if!f!lﬂllil!I"ll'I»I»I»!I'liiI"l!lllllliiiii!i!illililliiliiiiii!f’l!l
3004 $8+3. SCCPE
012737 002604 0CL:10 MOV 81$. SLPERR EE;OEETEﬁ”gRDRES FOR LOPING ON
012700 000002 MOV 82,R0 YINITIACIZE BIT 1O BE WRITTEN IN RKCS
016077 176440 18: MOV RO, SRKCS ‘WRITE THAT BIT IN RKCS
017701 176434 MOV 3RKCS,R1 (GET 1wCS
042701 000200 BIC 8200, Rl :MASK UuT CNTRL ROY BIT
020001 CMP RG.R] ‘WAS RECVD BIT SAME AS WRITTEN Bi~
001406 BEG s :YES, BRANCH OTHERWISE REPORT ERRCR
010037 001162 MOV SREGQ :GET EXPCTD RKCS, 911 THAT WAS WRITTEN
017737 176814 0CI184 MOV ankcs SREG! :GET RECVD RKCS, BIT REAC
104003 ERROR 3 ‘BIT THAT WAS WRITTEN WAS NOT REAC SBrir
006300 2%: ASL RO 'SHIFT TO WRITE NEXT BIT
629827 90CJ20 CMP RO. 820 *HAVE U CHKD ALL 3 arrs 2. 3
0Ci3se BNE 18 LIF NOT LOOP BRCK 3 cnscx THE Nx™ 317
lf!l'f!i!!!iil!liilllllli!l!illliiiiiii!lliiilili!i!!l!i!!iii!li
irssr 4 TEST RKCS EXTENDED MEMORY BITS - 4.5
. #THIS TEST CHECKS IF THE 'EXTENDED HEHORY BITS CAN BE WFI™"EMN

: #AND READ BACK CORRECTLY.
R A RERERRRRRRERE AR AR R RS R R R R R RSN E 22

0023004 t&ta:  sCOPE N

012737 002664 901110 MOV 818, SLPERR ggTEg%;URguﬂgREs FOR LUPING

01270C 000020 MOV $20,R0 "INITIALIZE BIT TO BE WRITTEN IN RIS
010077 176360 18: MOV RO, 9RKCS uaxrc THAT BIT IN RKCS

017701 176354 MOV SRKCS, R1 :GET RKCS

42701 00C25C BIC 8200, R1 MASK OUT CNTRL ROY BIT

025001 CMP RO, R} 'WRS RECVD BIT SAME AS WRITTEN BI”
001406 BEQ as YES, BRANCH

010037 001le2 MOV EGO :GET EXPCTD RKCS, BiT THAT WAS WRITTEN
017237 176334 0Clle% MOV ankcs.snecx 'GET RKCD RECVD, BIT THAT WRS REAC
104003 ERROR 23 'BIT THAT WAS WRITTEN WAS NOT RERC BA.a
006200 z8: ASL RO "SHIFT TO WRITE NEXT e'*

022700 00C10C CHP £10G.R3 HAVE U CHKD BO™H BI'S, 4, € o

8612¢c¢ BNE 18 :IF NOT. LOOF BACK & ZHECK T4E ™\~ 5@



COo
“i-.izTTIE. KL BASIS LOGIC TEST 1 MRCYLL 30UIOMB) 0B-JUN-T7 14:40 PAGE 28
S3e03ET3T s ARR-TS 39 1N TEST RKCS EXTENDED MEMORY BITS - 9,8

.382 :
2382 SRR RN RN RN RN R R RN RO R RO S
239 i'EST 5 CHECK RKCS IDE BIT - &

138¢ :#THIS TEST CHECKS IF IDE BIT CAN BE WRITTEN 3 READ BACK. “HE PRICESSIS
1386 '#GTATUS 1S SET AT PRIORITY 7 SO THAT JNWANTED INTERRUF™S FRE . CKEC Z.*
1387 ' #THEN IDE BIT IS CLEARED AND PROCESSOR PRIORITY IS _OWEREC ~C THGRE  mi”
1388 #NO_INTERRUPTS OCCUR.

1389 ‘ llll’ll!lilllllllllllll}!ll}lllll*l}lilillllfiilillliiiiliiibill
1330 002730 000004 475.  SCOPE

2391 002732 Glev4e 000340 MOV 8340, - (SP?

1392 00273 O0l2746 002744 MOV 8648 - (SP)

1333 002742 000002 RTI

1394 002744 64s:

1332 002 8%3398 836?38 nov RTES ggo .SET THE IDE BIT

. '

1397 002;33 022710 00030C CHP 3300, 2RO 'WAS 1T WRITTEN CORRECT. Y

1398 002760 001406 BEQ 18 YES, BRANCH OTHERWISE REPOR™ ERRCE
1399 (002762 012737 000300 001162 MG\ aaoo SREGO 'GET EXPCT RKCS

1900 003770 0i193T 0O0lleM MOV 3RO, $REG! :GET RKCS RECVD

1401 D0027™4 154003 ERROR 3 '1DE BIT WRS WRITTEN, BUT WAS NC”
462 :READ BACK

1433 202TTE  10w4iZ is: SNT.RESET .VONTROL RESET, CLEAR IDE

el i THIS IS A CALL FOR THE "CNTRL-

R, RESET ROUTINE. A CONTROL RESE.
Sk 115 ISSUED AND AFTER A CERTAIN T:
1427 “IF THE 'CNTRL ROY’ DOES NOT sc'
e, :AN ERROR IS REPORTED. NOTE T=R”
1429 THE PC IN ERROR MESSAGE IS THE
1420 C WHERE 'CNT.RESET' IS LOCRTEC.
411 003000 022713 00C23C CMP 8200, 3RC oxo IDE BIT GET CLRD?

s41Z2 003004 001406 BES 2$ :YES, BRANCH

iv13 003006 010037 0O0Ll1&S MOV RO, SREGC ‘GET RDRES OF RKCS

i+14 043012 011937 00llgw MOV aﬂo SRES] TGET RKCS

1416 (003016 104010 ERROR 1 : 1DE exr CouLD NOT B ZLRC

14’6 00302C 00C43C B8R 187 EXIT

14i7 003022 104414 0OOCID 28 DELAY .10 :WAIT FOR AT LEAST &C LS

1418 :ON 11720 12 US FOR 1145

1419 00202e 012777 003076 1Te2M MOV 838 . RKVEL :SET RKI1 INTERUPT VECTOR ¢

42¢ WHICH RK11 CAN INTERUPT IF TWERE
1421 115 FAULTY LOGIC

1422 003034 013746 001286 MOV RKPRI,-.GP° :LOWER CPU PRIORITY SO THAT

1423 003040 012746 003046 MOV 848, -°SP IRK11 CAN POSSIBLY INTERRUP™ ¥
1429 003044 000002 RTI 'THER IS MALFUNCTIONINIG ooall

142 003046 00C2NC 48: NOP *uf INTERRJPT WCULD OCCLR

;436 003050 (00C24C NOP

1427 003052 000240 NP

;428 003054 012746 005342 MOV 834C.-.SP.

429 003060 01274 003CeE MOV 8£38, - 57

-436 003064 000002 R¥1

142] 003066 £58:

143 :PRIORITY

2432 003066 012777 0CEzi2 I7El7Y MOV 8BADINT, JRK VES SET UP UNEXPCTD INTRUPT “ECTIR
s424  J03C7Y  SO0NC2 R 1S”E

143 20307¢ 02262t 3s: MP (GP,e,.5F + kesvons STACK

L2 O0aIN0 lZ4l12 EPRR 12 ‘AN UNEXPECTED RK1i IN"ERP' L0

== e :;CCUPEU PRIBARBLY TJE "o Frul™ olall
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HECK RKCS IDE BIT - &

'
RN R R R R R R R R R RN R R AR A R RN RN SRR RRRR ARSI RSADRRRASRESS

(#TEST &

Yore:

i8:

2s:

B,9,:3,:l
. #THIS TEST CHECKS IF YHE &SE,'EXB, FMT 8 IBA'BI*C CAN BE wF:™-c-

CHECK RKCS SSE,EXB,FMT, IBA BITS -

; #AND READ BACK CORRECTLY
B R R R R R R R PR RN R R R R RS E RN R RN RN R R R0 00

SCOPE
MOV
MOV
MOV
MOV
8IC
cHp
BEQ
MOV
MC'
ERRCR

ASL
cHp
BNE

$400,R1 S INITIALIZE BIT TO BE WRITTEM % &v 3

RKCS, R2

Rl 9R2 :WRITE THAT BIT IN RKS

aR2, R0 ‘GET RKCS

8200, RO :MASK CNTRL RDY BIT

RI.RD ‘WAS THE REAC BIT SAME &S THE
‘WRITTEN BIT

28 'YES BRANCH, OTHERWISE REPLF™ ERF-F

R1, SREGC :GET EXPTD RKCS

2R SREG! :GET RECVD RKCS

3 ‘BIT THAT WAS WRITTEN .AS IN SREGD
:WRS NOT RERD BRCK

R1 "SHIFT TO WRITE NEXT BIT

81000C.R! :HAVE U CHECKED ALL BITS 8, 3, iC, ..

18 :1F NOT, LOOP BACK 8 CHECK Tht wnwt 81~

;;!{i{iiillll!li{i{llllli{llilillillllll!illillillllilili{illllll

:27EST ?

M-S ol

S4TEST |

¥r10:

K READ ONLY BITS OF RKCS

CHEC
1 #THIS TEg§ CHECKS THAT TRYING TO SET THE UNUSED BIT OF “hE RESC
;#BITS DOES NCT SET THEM OR RFFECT ANY OTHER BITS IN RKCS
-iieiiiiii9:*{{{{;1{!iiiifiliieiiiir:iiii{iiif:ii{ii{;;»;io}o;i:;

SCOPE
MOV
MoV

MoV
BIC
8y

BEG
MOy

MOV
ERRCR

c

RKCS, RO
8170200, 3RO :TRY SETTING THE JUNUSEC BI' § 72
SONLY BITS
3RO, Rl 16ET RKCS
£1000C, R1 :MASK BIT 12
3200, R{ 115 *RDY' BIT SET? NO JTHER
:BIT SHOWLD BE SET.
TST10 ;. 0K, EX
8200, SREGO :8ET'EXPCTD RKCS
a3RC. $RES! 1GET RKCS RECVD A
4 ;rnxsocgo SET UNUSED 8 RD ONLY BITS

:OF Rk
:SHOULD NOT HAVE RFFECTED ANY BITS

:'l{{lil!i{{{{!illll!!{!!!l!iilll!!i{l!lilllllilll!!iilllliiliiil

HECK THAT °G0° BIT (0) CAN BE SET

¢
;#THIS TEST CHECKS THAT THE 'GO° BIT CAN BE SET, BY PERFORMING

:#CONTROL RESET 8 SEEING THAT THE EXB 8 IBR SET PREVIOLSLY

; #WERE CLERRED.
s AR R AR R R R R R A SRR RR R R R R R AR RRRR R R RN RROR 200

SCOPE
MOV
MOY
RTI

8340, - (5P}
.EWS."(SP'

-
[\ e



1RR2

¢

fel

3032

. JIRRCJ-E, Rkl! BARSIC LOGIC &Y U
; L3-RPR-TT J9: 1M

- 30\ 1046

EQS

14:40 PRGE 30

06-JUN-77

CHECK THART °GO* BIT (0) CAN BE SET

lﬂ(ﬂU\U‘U‘lU‘lU‘U‘\U‘lUIggU\UlU‘IUl

P20 o proP—o Pt ponp o po p—a po

Pobaboabah chebabebapadoh ohsp g oyt d ape

U (3.000 "N £ W)

RO

003230 013701 001252 MOV RKCS, R1
003234 012 11 0057 MOV 87576, 3R1 ;SET ALL BITS EXCEPT GO
ooaaug 0S %ERET RO S S
883534 829911 000200 c 8200, 3R1 é EEE ?P nxc§ WAS CLERRED?
503250 0C14C3 BEQ 18 ve; BRANCH OTHERWISE REPORT ERF.S
gggggg 031632 001162 MOV aR1.SREGO 'GET'RKCS
104 ERROR S :8US INIT DID NOT CLEQR RKCS
003260 012711 00SC0C MOV 5000, 3R1 :SET IBA 8 EXB IN
003264 005211 INC aR1 !SET GO, CONTROL RESET
003266 005200 INC RO ‘KEEP TIME
003270 105700 IsT8 RO ¥gvgzu WAITED LONG FOR CNTRL RDY
003272 100411 BMI 33 :IF YES, BRANCH 3 REPORT ERRCR
003274 105711 TST8  aRl 'WAS CNtRL ROY SET?
903276 100373 8PL 23 ;IF NOT LOOP BACK 8 WAIT FOR IT
003300 022711 000202 CMF 200, aR1 :IF CNTRL RDY WAS SET, CHK IF "CNTRL
RESET' CLEARED 1BA 3 EXB BITS
003304 001407 BEQ TST11 IF YES, EXIT. OTHERWISE ERROR
0C3306 011i37 001162 MOV JR1, SREGO t8ET RKC
003312 104006 ERROR b G0 BIT COULD NOT BE SET OR FAUL™ IN
' THE *INIT L’ GENERATING LOGIC
003314 000403 BR ST EXIT
803316 004737  00S434 38: JSR Fo,GT3RG bo GET RKCS, ER
503322 10422 ERROR 7 *CONTROL RERDY DID nor SET AFTER
:CONTROL RESET
il»l*i*ill!*ll***i*ll**l**il<l>l'*l{*l*l*ll**lll*lllllllillllil!iff
LTEST 11 CHECK RKCS WITH A COUNT PRTTERN
:¥THIS TEST CHECKS THRT RKCS CAN BE CLEARED FROM 7576 THEN & ZCUNT
: sPATTERN FROM 2 T0 7777 1S RUN. NOTE: ALL PATTERNS WITH 817 Q SET
*%(GO BIT) ARE AVOIDED SO THAT RK11 MAY NOT START AN UNDEGIRED ZPERSTICN.
"¥R] CONTRINS THE COUNT PATTERN THAT WAS WRITTEN
i*l*!i‘***l*!l*l*il*l***l*il'l*i*llv*i}*ll*i}!i!l!}l!liiiiiiii}*i
003324 000004 t&T11:  SCOPE
003326 012737 000010 001206 MOV 810 STIHES ::00 10 ITERATIONS
003334 012746 000340 MOV 8344, - (SP
003240 012746 003346 MOV 8E4S, -(sp;
003344 000002 RTI
003346 64S:
003346 013700 001250 MOV RKCS, RG ,,
003352 012710 0C7S576 MOV 87576, R0 sSET ALL BITS IN RKCS EXCEP™ 3o
003356 005010 CLR 3RO :CLEAR RKCS
003360 022710 00020C CHP 200, 3RO 'WAS 1T CLEARED
003364 001405 BEQ 18 1 YES, BRANCH
003366 010037 001162 MOV RO SREGO GET nonss OF RKCS
003372 01.037 001164 MOV aRb SREG! GET RKCS
003376 104010 ERROR 1 RKCS COULD NOT BE CLEAREC
003400 012701 000002 18: MOV {WRITE THIS BIT IN RKCS
003404 012737 003416 001110 MOV nat SLPERP
0012 012705 177773 MOV $-5 RS
003416 010110 28: MOV R1, 3RO WRITE IT
503420 0:0102 MOV R1'R2 'GET BIT THAT WAS WRITTEN
003422 052702 000200 8IS 8200,R2 :SET CNTRL RDY BIT
90242¢ 511003 MOV 3RO, R3
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CORRJ-E, Rk1! BRSIC LOGIC TEST 1 MARCYLL 3011046) 06-JUN-77 14:40 PRGE 3!
P 19-RPR-77 09: 14 Tl CHECK RKCS WITH A COUNT PATTERN
003430 82020; cMP Re,R3 :WAS THART BIT WRITTEN CORRECT.(?
0Cv32 00140 BEG 39 :YES, BRANCH
002434 010237 0Cliee MOV R2, SREGO ;GET EXPCTD WORD
883:90 063837 001164 MoV R3,3REG] ;GET RKCS RSBVB
44 104003 ERROR 3 ;01D NOT RE AK THE BIT THAT
;WAS WRITTEN
003446 00S205 INC RS
003450 Q0140S BEQ 1ST12 i EXIT
003452 062701 30C002 38: RDD #2,R]1 :ENERATE N-T PATTERN TO BE WRITTEN
003456 022701 01:0C00 cMP 10000, R1 :ALL PATTERNS WRITTEN?
003462 021355 BNE 2s :IF NOT, LUP BAK 3 CHK NXT PATTERN

D RRRREREEEEEEEEE AR RN R R RSN RA R A
(RTEST 12 CHECK THAT RKWC BIT 0-1S CAN BE SET
-#THIS TEST FLOATS A '1' THROUGH RKWC BIT 0-1S AND CHECKS T4~ I
- #CAN BE READ BACK CORRECTLY. RO CONTRINS THE WORD THAT IS wRITTE™
N e L T T T A T T AT R A A AT A A Y I 2

nundiinvivuniiiigiduwivwu ooyt onaanaiuiunigun

BRIRRLIC2ER

i

P T R I I T Y Y Ty
oee

[\ "‘l"z‘,ﬂ‘
J

)
L)
(LA B & )

003464 DOOCOH ter12: SCOPE .
0C2466 (12700 000001 MOV 81.RO :INITIALIZE RO FOR THE BIT T3 BE WAIT7EN 1% Seal
0072 013701 391252 MOV RKWC, R1
003476 012737 0£03S04 900:i1i0 MOV 815, $LPERR :SET UP RETURN ADRES FOR
:LUPING ON ERROR (Sk 9)
003504 010011 13: MOV RO, 3R] ‘WRITE THAT BIT IN RKWC
003506 011102 MOV IRl R2
003510 020002 CMP RO, R2 :WAS IT WRITTEN CORRECTL'
003512 001405 BEQ 28 :YES, BRANCH, OTHERWISE, ERROR
003514 010037 00162 MCV RG, SREGD :GET EXPCTD RKMC BIT THAT WAS JRI™TEn
503520 010237 CC!ligd MOV R2.SREGI :GET RKWC (THAT WAS READ BACK .
003524 104511 ERROR 11 'DID NOT RERAD BRCK THE BIT THA™
‘WAS WRITTEN IN RKWC
003526 0Ce300 3. ASL RO 'GHIFT TO WRITE THE NXT BI”
003832 0°:I3sS BNE 18 :1F ALL TME BITS MAVE NCT SEEN
:DONE, LOOP BACK
- P Y Y YIY 32232222222222322222322R2222 2222233332222 2222222212222 8%
SRTEST 13 CHECK RKWC WITH A CCUNT PATTERN
- #THIS TEST CHMECKS THAT RKWC CAN BE CLEARED, THEN A C2UN" S377Zgn
“#FROM 0 T0 177777 IS WRITTEN 8 CHECKED IF !~ WAS WRIZTEN >IS&E_~_-
H ilff!l}‘lllll!‘i!{l{}l{l!iilililliliilliillillliiliil!!i!!f{’iﬂ
003532 000004 $4v:3. SCOPE
903534 012737 000010 20125& MOV 810, STIMES ::00 10 ITERATIONS
003542 013700 0C1252 MOV RKWE,RO
gggggg 012710 177777 MO .&77177,390 :SET ALL BITS IN Rkl
2 805010 CLR 9RC :CLEAR RKWC
003654 00S710 157 3RO {WAS IT CLEAREC"
003556 001405 BEG 13 ;vsc. BSENC“
003560 010037 00llee MOY RO, SREGC :GET 'ADRES OF RkiC
003864 011037 001:e4 MOV 2R0, SREG! :NO, GET RwMC
N03570 104010 ERROR 19 RKWC COULD NCT BE C_ERREC
003672 005001 CLR <INITIRLIZE COUNT BATTERN
003€7M 012705 177773 MOV 8-5.RS
003600 012737 (CC3s0E MOV 828 SLPERR
380t 010:10 MCV ‘WRITE THE PATTERN IN YHE REJIZ
SC31C 01:002 MOV
Stz fCITE “MP WS 17 WRIITEN ZORRRECT.:"



38

oo oo oo,

D ahoh +0-sh 2p aehspapop e

W OO - I N LU~

froRafufofy

it

&Y

R

FoPaPab 2t abad 2P s bt Pt ) 2P APt Pt Dt bt Bt Pt Pt PSP Do Pe P 2P b P S0P ep op 2P pe
Y ]

g oo oo oo
Rt SSaYRRECRME

-
oo
3

(W]

RURR
aoom
4 £4
onLs

CoaasesRe I-E,

003614
0C361b
Q03622
003626

20363C
003632

0C3634
0C3k3b

- WO
[ L2

AR

88 5228892 22 og
> -t

L GReEem6

o)
ey wsIN

oO0000
[Eyerere)
EI’UUNO
~INNIO
o

£

3
(V]
NOWIOO0N

Oresr—0

5208

OO

0000C!

0C1254
003660

QO
[ ] o]
PO
» at-a

o
f o o ¥)

-
-
o

()
(&)
(]

GUo

:5%‘;; 32,1046, 06-JUN-TT 14:40 PRSE 32

2 CHECK RKWC WITH R COUNT

BEG 33
MOV Ri,SREGC
MOV R2,SREG!
ERRCR 11
INC RS
BEQ TST 4

28: INC Rl
BNE 2$

PRTTESN

I ES, BRANCH

1oET EXPECTEL wORC

:GET WORD THAT WAS RE./C
:CI0 NCT REAC SACK "HE °PR™T
‘MRS WRITTEN INTS THE RESIS

 EXIT
' NCREMENT COUNT PATTERM

:LUP BRK 8 WRITE NX™ PATTERN I¥ NCO©
:DONE WITH ALL

; R RRRR AR R R R R R R PR R R R R R R R AR AR R R R RAR R R RRARAARAERRIDIS

(RTEST 14

;#THIS TEST FLORTS R '1°

CHECK THART RKBR CAN BE SET

THROUGH RKBR BITS 0-15 AND CrElX

-
-

21T CAN BE RERD BACK CORRECTLY. RO CONTAINS THE WORD THA®

s BURITTEN.

. li'llli‘l!llllllllll!!lll!llll!llllllllllllllllllll!llll!lliill’

Yeviy: SCOPE
MOV 81 .RO

MOV RKBR,R1
MOV 818, $LPERR

18: MOV RO, 3RI
MOV aR!,R2
NP RO, R2
BEQ 2

MOV RO, SREGO
MOV Q2. SREGI

ERROR 13
2%: RSL RO
BNE 13

;INITIALIZE RC FOR BIT TG BE
(WRITTEN IN RKBA

:SET UP RETURN RDRES FCR
:LUPING ON EROR (SW l2,
(HRITE THAT BIT IN RKBW

.WAS IT WRITTEN CORRECTLY?
YES, BRANCH
GET EXPCTD RKBA (BIT WURITVEN
:GET RKBA (BIT READ BACK, _
:DID NOT READ BACK TME BI™ "~
'WAS WRITTEN IN RKBA

'SHIFT RO, TO WRITE NEXT 817
2IF ALL BITS ARE NOT CHKC, Llo
:BACK & WRITE NXT BIT

; cRRRRRRRRRRANRAERNAERRRRS RERERRRRBRARERERRRRERRRRARRRERARERELERS

(#TEST IS

;#THIS TEST CHECKS THRT

CHECK RKBA WITH A COUNT PRTTERN
RKBA CAN BE CLERRED, THEN (T SUNS

:#PRTTERN FROM C TO 177777. Rl CONTRINS THE COUNT PRTTER%
R RREARRRRRERRERRARRASRRRRFERRERBRAREN RS ERRRRRERRRRRI2IRRONIEY

¥S§ris:  SCOPE
MOV $10,STIMES
MOV RKBA, RO
MCV 8177277 .3R0

CLR aRC
157 aRO
BEJY

1$
MOV RO, SREGC
MOV SR, SREG!

ERRJR 10
13 CLP Rl

HOV ." ’ RS

MOV 828 SLPERR
3: v RI, 3RO

::D0 10 ITERATIONS
:SE* ALL BITS IN RK3A
:CLEAR RKBRA

‘WAS 1T CLEARED®

:YES, BRANCH

:GET ADRES OF RKBA

:NO, GET RkBR

‘RKBA COULD NOT BE C_EAREC
JINITIALIZE COUNT PRTTERN

:WRITE THE PRTTERN IN Teg
;REGISTER

- 7-.;"
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Pl Lead s il oag AR epdialo gl ad Buds ol
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BIURRZER: 180 TR LS E3B

=)

WS- OO0

3 3 3NINITINIINININNIC Y I
apad op -p

4B 0 ap AP cpcpaPpabob shah p ch=b oh o b
-0

HJo

oy LTBeleE, Sl BRIII CoID CETT L Meivi. 30 1246 _ZB-JN-TT 1wiMD Pulf 33
DR 3LagRRR g I TRET RKBE WiTe & IIINT BRTTERN
SCIres £::202 MCh aRC R2
£ITee 020102 SHF RLR2 ;WAS IT WRIITEM CORRREZ™.
alok Rpyolilte S L lohy ) 8E2 33 :YES, BRANCH
377 213137 20..:&:2 Gs R}, SREGC :oET EXPECTEL WORC
C3r7e 011230 2Zile- 3\ R SRES, 'GET WORC THAT WAS REZ/C
c4002 134813 ERROR .3 :DID NOT REAC BACK "HE ERTTERN "=~
'WRS WRITTEN INTC "ME RELIS'EE
2guog4  Josace INC RS
w30e OCI43Z BEG 1871 L EXIT
X4CiT  c0s2n. 3s: INC R1 : INCREMENT COUNT PRTTERM
204213 3213635 BNE 23 :LUP BRK B WRITE NX" PATTEON [T i~
:DONE WITH ALL
: ;099090!!!}}llilli’iilllilllliliiilllllllllillilliii!90!9!9!9!0f
HTEST 16 CHECK THAT RKDA CAN BE SET
:#THIS TEST FLOATS A '1' THROUGH RKDA ANC CHECKS THA™ TME 4181 .-l
' »WRITTEN IS READ BACk CORRECTLY
i- }i‘ll‘ll‘{{ll‘l{l{{!!lliillliilllilllllli{lliiiliillii’f!!fﬂﬂ09’
004014 000G §v1s: SCOPE A
904016 005077 175226 C.R IRKCS : CLEAR RKCS
0C4022 012700 0CD4C: MOV 81,R0 INITIALIZE RO FOR BI™ "2 3E WRIT7E™ [% #rlZ
004026 01370: 201256 MOV RkOA, R]
0O4C32 01273% 208590 2011 MOV 018, $LPERR :SET UP RETURN ADRES
tFOR_LUPING ON_EROF
004040 013011 1s: MOV RO, 3R] ‘WRITE THAT BIT IN RKDA
004042 Qil1102 MOV PG
004044 020002 cHP RO,R2 :WAS IT WRITTEN CORRECTLY
004046 OC1405 BEG 28 : YES, BRANCH
004050 Q10537 oC..62 MOV RD. SREGC NG, GET EXPCTD RKDA (BIT wRIT7EM
004084 010237 00IiEw MY R2,SREGL :GE} RKDA (BIT READ BACK)
0040BC 104615 ERRCR 1S :DID NOT READ BACK THE BiT TrR”
. ‘WAS WRITTEN IN RKDA
904062 OCE3CC 2s: ASL RO :SHIFT RO, TOWRITE NXT BIT
So40€4  DCI3es BNE 18 :IF ALL BYTS ARE NOT CHKD, .ICF
:BACK 8 WRITE NXT BIT
S RERASRBRRRRRRERARARAREREREAREEREDEERRRRRRERERRRRRARRERRERIRERES
S#TEST 17 CHECK RKDR WITH A COUNT PATTERN
:#THIS TEST CHECKS THRT RKDA CAN BE CLEARED, THEN A COLN™ S§T7EwN
:%FROM 0 TO 177777 IS WRITTEN AND CHECKED. K1 ZONTAINS THE 2l 8"
:#PATTERN TO BE WRITTEN
e R RREREE AR RERBEEREREERR LR AR AR R REBRERRRRERRERARRRRRERR IR0
004066 000004 ¥8117: scope
004070 012737 0000iT 00:206 MOV 810, STIMES ::D0 10 ITERATIONS
004076 013700 001256 MOV RKDA,RO .
004102 012710 1~777- MGV 8177277, 3RO :SET ALL BITS IN RKDA
004106 00S010 CLR R0 : CLEAR_RKDA
004110 005710 75T R0 'WAS IT CLEARED"
004112 001408 A BEQ 1§ :YES, BRANCH
004114 010037 2J0Ile2 MOV RO, SREGD :GET'ADRES OF RKDR
204120 011037 001ik4 MOV aRD.SREG! :G0, GET RKOR )
004i24 104010 ERROR 10 :RKDA CGULD NOT BE CLEAREC
204126  00S00. 18: LR R! :INITIALIZE COUNT PRTTERN
20413C QI270€ 177773 GV 8-S,RS
T0413+ 312737 T4l il MOV 828, SLPERR



I[]ZR

. CTREI-E. BRI BRITL LIGID TEST 1 wALvil 3205246, D6-JYN-77_ 14:.4 GE 34
N 1gthén§?‘ 3q7d -7 e Rxoasuffﬁ A" coont BarTER

278 904142 013110 8 MOV R1, R0 :ARITE THE PRTTERN IN THE RESIZTEIS
719 00144 011002 4OV R0, R2

172C 004146 020102 CHP Ri.&2 ;485 1T WRITTEN CORRREZT . Y"

720 004180 001407 ) BEG 3 YES, BRANCH

1722 004182 Q10137 0£0:lec MGV R1,$REGO {GET EXPECTED WORD

:733 0Cv1Se C10e3r J0:le+ MOV R2. $RES! 'GET WORD THAT LAS RECVC

s72% 004162 1CHZiS ERROR 15 :DID NOT_REAC BACK THE PATTERY “wi”

io2¢ - :WAS WRITTEN INTG THE RESIS B

726 004164 005205 INC RS

(727 2041pe 001422 BEG 15129

1728 204170 225201 38: INC R1 !Ncnenenv COUNT PRTTERN

2725 OC+1T2 201363 BNE 28 LUP BAK 8 WRITE NXT PATTERN IF NC”

%Zg? oonc WITH ALL

T2 CAREARERRERERRRRRSRRAR AR AR AR AR RRR AR AR AR RRRRRRRRRARARR AR R NERS

1733 {ATEST 20 CHECK THAT RKWC.RKBA,RKDA CAN BE CLERRED BY RESET

1734 :#THIS TEST CHECKS THAT RKWC, RKBA AND RKDR CAN BE CLEAREC Sv .3 I“I™.
Bk :#RESET INSTRUCTION IS USED

T3k lliii'l*llllllllllliilliliil!lilli!illllillllllllilliililllilfll

1737 O04i7+4 000004 123 SCOPE

1738 004i7e 013705 001258 MOV quc RO INITIALIZE RO TO PRINT T RKWC

i739 004202 0i0002 MOV RZ

740 004204 012781 177775 MOV 3-3 Ri :SET UP COUNT FOR 3 REGISTERS C BE -
.74l 004210 C10103 MOV RI,A3

1T Ruele Jeret 177 i3 MOV ¥177777, RO+ ;SET ALL BITS IN RKWC

i3 004216 20! s R] : RKBA

i744 004220 0C137Y BNE 13 RKDA

1745 004222 000005 RESET }1SSUE A BUS_INIT

;135 Qgueed 0057 z8: ST R2" : WRS THE REGISTER (PTD TC BY Rg. J_EAREZ®
36 00es30 01980 o 7 2 5. GET AOR

g 4 g3r oolies MO\ 2,$RESD S OF THAT 4AS NC7 I_EASEC
Ty 88“‘3& Ojig3r 2CI1E4 MY JRS, SREG! .,Et 35 ENTé of Tﬁﬁ* 5&#15

i~s3 Afudo 18481 ERROR 1+ |1 REGISTER (ADRES IN-RD) SoULs

.7S1 ] NOT BE_CLERRED BY BUS INIT

2752 Ce24z  0QSTas 33: ST (REY+ : INCREMENT POINTER TO NXT REGISTE®

783 3@4e4d H0S2r3 INC R3 {HAVE U CHKD ALL 3 REGISTERS®

,Qgg 20424 0CI3Eb BNE 23 :IF NOT, LOOP BACK 3 CHK NXT

.zt SRR RRRRERER IR R RN RS R RRA R PR R AR AR R DR AR AR R AR R R RN R IR R

ret THTEST 21 CHECKTHAT RKCS. RKWC, RKBA, RKDR CAN ae CLERRED BY IINTRC. RESE”
:o2E }BRKCS 15 SET 1O 7960, RRMC, RKBA, RKDA ARE ALl SET

2253 P¥70 177777, CONTROL RESET IS DONE ANC IT 1S CHECKEC

img2 :#IF ALL THESE REGISTERS ARE CLEAREC.

iTEl T T L L T T Tt Y RO SN S 2 T AR TR T e

.7Be 004250 000004 t=a1: SCOPE

2763 004252 Q12746 00C34C MGV 8240, - 'SP

.764 004256 012746 004264 MOV 8648, - (SP,

.7ES 004262 000002 R7I

2766  DO426M £43:

1767 004284 Q13700 2C12sC MOV RKCS, RS

1768 004270 0127!0 0O07SEl MOV 8-560, aRC :SE” ALL WRITABLE BITS IN &ul3

763 904274 00S2iC INC aR3 ;SET GO, CONTROL RESET

1437 38 J0en .. %5 DR :DID CNTRL RDY SET

L ) 7 l H u, - "

iTg 331388 1%iA2 BHI 28 .YES, BRANCH_

STt 04304 GosRlE INC RS uaxfso LING”



JO3

J

T . IoRWT-E, Rk . ¢ TEST @ MACril 3C.1046  0B-JUN-TT 14:40 PRAGE 3¢
: 1g-ﬁénebsléa5?&x 157"

T - - CHECK "HRT RKCS, RkWC, RKBA RKDW CAN BE CLERREC Br CONTRC,. RESE”
77N oo:aos 003375 I BNE 13 CTIRG :1F N ; Eug ang 3 WAIT
* . i

i-ep BRI 9B46E% tRoe B kT kB¢ EB1BNor se
175 20 23 p 00, 3RC O R NonL RESET CLEAR PKCS
1778 g 710 000205 : M 8200, : L c
1°-8 #I38 Bgial B % 048 CBRARCH
e ma g ol o R alme e

{ . :
1785 834339 quS?q sgaon 14 ;EENTBSL E?sér 01D Nar CLEAR Rw2S
1783 004336 013702 001252 38: MOV RKWC , R2
PS et d ISNEN:
1?82 350 81813& n8v R1, (R2) .SET ALL BITS IN RKWC
a R e AR SO
7 . 14 ;
zrgg 884535 154415 CNT.RESET ‘GO, DO CONTROL RESET
1730 !TRiS 1S A CALL FOR THE 'CNTR.-
{791 ‘RESET’ ROUTINE. A CONTROL RESET IS
1792 :DONE & AFTER A CERTAIN TIME IF
1°93 : "CNTRL RDY' DOES NOT SET AN ERROF IS
1oy REPORTED, NOTE THAT THE PC IN ERRGA
1798 115 THE PC ““ERE CNT.RESET é? X
i7ag 'LOCATED, THIS 1S A VERY BASIC ERRZRP 3
iryT IF 1T OCCURS GO BACK TO TEST 0.
1798 0D4360 012703 177778 MOV -3 R3
1799 (004364 00S714 4s: 157 (R} :WAS THE REGISTER CLERRED?
1800 004366 001405 BEQ 1 :YES, BRANCH
1801 004370 010437 00ile2 MOV R4, SREGO :GET ADRES OF REGISTER IN ERROR
1802 004374 011437 001164 MOV 3R, SREGI 'GET CONTENTS OF THAT REGISTER
1803 004400 104014 ERROR I :CONTROL RESET DID NOT CLEAR THE
1804 :REGISTER WHOOSE RORES IS IN Ry
1806 0Q4402 005724 c3: 15T (R4 + : INCREMENT POINTER TO NXT REGISTER
1806 004404 005263 INC R3 :CHKD ALL REGS?
;ggg 0044Ce 001366 BNE 4s :IF NOT, LUP BAK 8 CHK THE NXT REG
18CS H ;i!ii!Illill!!llllIll!iiililiili!ilfi*ilill!ll!lllll!lilllllllil
‘8.t TRTEST 22 CHECK THAT ERCH RK1! REGISTER IS UNIQUELY RDRESSED
1811 %¥THIS TEST CHECKS THAT EACH RK11 REGISTER CAN BE UNIQUELY RODRESSEC
812 '#1) RKCS RKMC, RKBA, RKDR ARE FIRST SET 10 177777 (17576 FCR RKCS®
B3 ¥2) REGISTER WHOOSE ADDRESS IS IN RO IS CLEARED
1E14 %3) EVERY OTHER REGISTER IS CHECKED FOR ERRONEQUS CLEARING BECAUSE GF
8.5 : ¥ADDRESSING ERROR. IF SO THE MULTIPLE ADRESSING ERROR IS REPGRTED
131& iy 28325??01” RO IS CHANGED TO THE NEXT REGISTER 8 THE PROCESS .S
7 "y )
.8:8 e R EERAREER R R R R IR AR SRR RN PR AR AR R AR AR R REERRRRR RS
119 [0O%410 0O0GOM t8t22:  SCOPE
1820 004412 012746 000340 MOV 8340, -(SP)
1821 004416 01274 004424 MOV 84S, - (SP)
1822 004422 000002 RTI
1823 CON424 EY4S:
1824 O0MM24 012705 177771 MOV $-7.RS :GET UP COUNT FOR THE ® OF
1825 ‘REGISTERS TO BE UNIQELY RODRSC
1326 024430 013700 001244 MOV RKDS, RO YINITIALIZE POINTER TO REGIS 'O BF SE”
827 00NN 012701 177774 18: MOV -4 Rl
1828 J04M4C 0123702 00leso MOV RKCS, R
1933 S0w<Ms4 012722 C:I7S7E MO 817E%6, (R2)+ :SET BITS IN RKCS



F.Jo

G1C ) D6-JUN-77  1Y: ;
ad beCARL S E. BRAAQBERIGLLQIC TEST I DEgYVLL I HEORPRR R STERTS INIQUEL  AORESSES

A

: e - Foin 2s: 0 7TT?T (R, ¢ SET ITS IN

1830 BRudsd BAEsAf ! XM 8 i,

iggg 004456 001374 BNE 28 zxon 62

1 Y CLR ' CLEAR REGIST R (WHOSE ACDR 1S IN &C

8% B0ie8 B33 ooieso S AR g

1836 004466 020002 CMP RO, Re ;WAS THE CLEARED REGISTER RKCS?

1837 D0ON470 001406 BEQ 33 : YES

1838 *NO-CHECK IF IT WAS INADVERTENTLY

1839 0O4w472 011203 MOV 3R2,R3 :CLEARED BECRUSE OF ADDRESSING

B e g HoopdRe e

1842 004504 001020 BNE 6$ . 1F S0, REPORT ERROR

1843 004506 005722 3s: ST (R2) + "INCREMENT POINTER TO NEXT REGISTER

1944 004510 D12701 177775 MOV 8-3,R1 :SET COUNT FOR 3 REGISTERS

1845 004514 020200 43 CMP R2.R0 ‘WAS THE CLERRED REGISTER SAME AS

1846 THE REGISTER POINTED TO BY R2

}337 004516 001404 BEG 58 N CHECK . -

184 SOIN¥E8 ev R2) uﬁg { ng§r£~§

1359 gLERRED ¥H£N cksnnruc ;ge REGIS

1922 e e

1853 004526 011203 MOV 9R2,R3 csr coursnrs oF chrs esxnc CHECKES

1654 004522 010304 MOV R3.R4 }FOR INGQVERTENT C L

1855 004524 0O0S104 COM RY 'CHECK IF ANY BIT uas ERRCRHEuLSL{ JUESGEL

1856 004826 001007 BNE X :IF SO, REPORT ERROR

1857 004530 002752 5s: Tg; éna)+ éncn n; EER ;o NEXT REGICTER

5§§§ Biiz3s 387sEs e &t R e REST

1861 720 157 (RO)+ rncasnenw PTR TO THE NXT RE3IS ~. 3Zf [_faser

18 "qsq 38?255 INC RE "HAVE ALL THE REGIS BEEN CHECYEC"

1863 00442 001334 BNE 18 :1F NOT, LOOP BACK

1864 (QQ4S44 000415 BR rgtaa Exxr F DONE

1865 00454 010037 001182 &S: MOV RO, SREGD c S OF REGISTER THAY RS

1866 :TRIED 1O REFERENCE

1867 004552 010237 920116 MOV R2,$REG! :GET ADRES OF REGISTER THAT GJ7

1868 :FEFERENCED INSTERD

1869 004556 011037 001166 MOV 3R, SREG2 GET CONTENTS OF REG THAT WAS

1870 'ADORESED & MEANT TO BE CLEAREC

ie;é 0o4Se2 010337 001170 MOV R3.$REG3 csanggurznrs gs REGISTER THA™ alT

1873 004566 10492C ERROR 20 :POSSIBLE ADRESING ERROR. TRIEC

1874 :ADRESING RK11 REGISTER nnoxuen INE

1878 1G0T ADRESED. nscxs 1n RO uRS

1876 ADRESED ONE, REG IN R

1877 'WRS THE ONE' mm GoT nonsssa INSTEAD

1878 004570 022702 001250 CHP RKCS,R2

1879 004574 001744 BEG 3 :RETURN T0 THE

1880 00457 0007cM BR 3 RIGHT POINT

iaal ’,’*’***!**’*‘.*."’¥***’*‘*’*‘**‘*¥E**5;*;’***E;.*.E*RBS;E*EE:
1#TEST 23 HECK THAT HI & LO BY K N s

:333 - #THIS E § CHECKS THAT %Hz 2 L0 ew??s KCS oRAh BE

1BBY .qooassseo CORRECTLY. _

.86¢ "sBI'S IN ALL REGISTERS THAT AN BE WRITTEN ARE SET. THEN EAl-



LOS

06-JUN-77 14:40 PRGE 37

“C-1i-OCRe-E, Rl BRSIC LOGIL TEST 1 Hgngl 30(1046)

o LT 13-APR-77 09: !4 CHECK THA™ W1 8 LO BYTES OF RKCS CAN BE RDDRESSED
1886 :#BYTE OF RKCS IS REFERENCED BY 'CLRB' 8 IT IS CHECKEL “WA™ OSMLY
1887 1 #THAT BYTE 8 NO OTHER REGISTER BYTE GETS CLEAREC
Lssg IlilllllillllllilllIIIII!Illlilllllllllllll!!llf’lflllllll!!ilf
188 88:500 og $4723: SCOPE
1890 012702 177776 MOV 8-2,R2 :SET COUNT FOR 2BYTES-HI § ¢
.89] oows?s oiaggg 176533 :ox :-3 RO( 5) :SET COUNT
1335 883215 81 746 4524 ngv s 492-( P)
1894 Q04e22 000002 RTI
o DN 0137 | B v MTIALIZE PTR. 0 RKCS
. 13701
:ég? 88:253 81 781 88?@?8 n8v .72?5 (R1)+ é | & Ei N RKCS
}ggg oowsgw 015721 177777 18: ngv ;1777?7 (R1)+  :SET RLL asz IN sﬁug
! (&) v
1833 R3uead 30N e
1301 0O4ewd 013701 2J012SC MOV RKCS,RI1 (INITIALIZE PTR TO RKCS L0 BYTE
1302 004650 105011 23: CLRB anx :CLER RKCS LO OR HI BYTE
1303 004652 010104 MOV &
1304 004654 017703 174370 MOV 3 kcs R3 :GET RKCS WORD
1305 004660 022702 177776 CMP 8-2,Re 'R U CHKING H1 OR LO BYTE?
1306 004664 001011 BNE 38 BRRNCH xr H BYTE
1907 004666 (042703 177600 8IC 8177600,R3 *MASK H
1306 004672 001417 BEQ 4§ TOK_IF L0 BYTE WAS CLEARED
1909 0Q4E7T™ 005037 001162 CLR SREGO 'GET EXPCTD RKCS.
1910 004700 010337 001164 MOV R3,SREG! GET RKCS RECVD, LO BYTE
13i1 004704 104022 ERROR 22 RLL RK11 Rzuxstsn S WERE LOADEL WITH
1912 1S THEN TRIED TO ADRES 8 CLR RKCS
1913 LO BYTE, IT COULD NOT BE CLEARED.
1314 004706 000M1! BR 4§
1315 004710 042703 000377 33: BIC 8377 ,R3 :MASK LO BYTE
1316 004714 001406 REG 48 ‘0K IF HI BYTE WAS CLERREC
1917 004716 00SC37 001162 CLR SREGO :GET EXPCTD RKCS, HI BYTE
1918 :GET WHAT WAS nc?unLLY RECVD
1919 004722 000303 SWAB  R3
1920 004724 G10337 0C!164 MOV R3, SREG!
1921 004730 104023 ERROR 23 ALL RK1] REGISTER'S WERE LORDED WITH
1922 :1'S THEN TRIED TO ADRES 8 CLR RKC
1923 ‘HI BYTE IT COULD NOT BE CLEARED.
1824 004732 012700 177774 4§: MOV $-4. RO SINITIALIZE COUNT FOR REST OF REGISTERS
1995 004736 013705 001250 MOV RKCS, RS :INITIRLIZE POINTER TO RKCS
1326 004742 00S72% cs: TST (RG)+ : INCREMENT PTR TO NXT REGIS
1927 004744 (005200 INC RO :ALL REGS DONE? _
1928 004746 001417 BEG X3 ‘IF YES, GO 8 RDRES TC CLEAR RKCS HI BY'E
iggg 00475C G11502 MOV 3RS, R3 éEIRST cgr CONTENTS OF THE REGIS
;ggé 004752 005103 CoM R3 8°PPkE?E”T THE CONTENTS, SHOULD BE
1933 0047S4 001772 BEG c$ PR vIOUSLY SET T0 ALL F IT'S
133 O BRANCR: ?nm rebort ERROR
iqas 0047Se 010137 0C1162 MOV R1,SREGC GET RKCS- BYTE ADRES WHICH uns “RIEC
{3%2 004762 010537 001164 MOV RS.SREG! ?E; EEEES OF REGIS WHICH GOT ADRESED
1929 004766 012737 177777 (00l116k MGV 8177777 $REGZ  :GET_EXPCTD CONTENTS OF REGISTER
1940 : THAT GO ADRESED i
J94. 204774 N10T102 ~OM R3 SGET CONTENTS RECVD FROM THA™ REGIS
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<-1{-CaRJ-E, Rk JOGIC TEST 1 MACYIL 30 Q46 D6-JUN-77 14:40 PAGE 38
g:Ré}E.pllJ . 18‘A&R§§5189:?&I *gg gHégK THﬂ? Hf 3 LO BYTES OF RKCS CAN BE ADCRESSEL
1342 004776 012337 001170 MOV R3,$REG3
2:3 0CS002 104024 ERROR 24 ;Q&* RK;A RE&IETERS WERE LORDEC
4 (WITH 175, RKCS
qu4S ;BYTE (RDRES UNDER 'BYTE' IN ER
46 ;MSGE) WAS ADRESED
 ald ;USING 'CLRB’  BUT REGISTER (ADRES
348 ;UNDER "REGIS’ 1IN
MG :ER MSG) GOT CHANGED AS A RESULT.
950 04 000756 BR Ss
351 006 (005201 1 H INC Ri :POSITION PTR TO RKCS HI BYTE
352 00S010 Q05202 INC R2 :CHK IF BOTH HI & LO BYTES (RKCS)
953 s WERE CLEARED
ggg 00sC12 001316 BNE 2$ : IF NOT BRANCH BRCK
956 ;;il**iiili***li*iii*!*iiiiii*iii!ii*****iii*******l*!***iii*iiff

(#TEST 24 CHECK THAT HI 3 LO BYTES OF RKWC,BR, DR CAN BE ADDRESSED
:#THIS TEST CHECKS THAT BYTE OPERRTIONS ON RKWC, RKBA & RKDA CAN BE CCNE
;#CORRECTLY. FIRST RKWC, RKCS, RKBA, RKDA ARE SET T0 177777.

Bs Dem e Bt s et Bt s Bt s Bt P Pt Pm e Bt s B+ B 2 B > Pes Pt Pt e e e p s
ARA
DN

960 “#]) REGISTER BYTE POINYeD TO'BY R2'1S CLEARED USING 'CLRB'

6] '$2) IT 15 CHECKED THAT ONLY THAT BYTE AND NO OTHER BYTES GET CLEAREC
962 '¥3) POINTER R2 IS INCREMENTED TO THE NEXT REGISTER-BYTE 8 THE PROCESS
93 '#IS REPERTED. LO BYTE IS DONE FIRST, THEN HI-BYTE 1S DONE.

964 --l!iliiil!lill!!!lii!!ii!iliiiiiliiii!!!iil‘!ill!iiiii!!illiiill

965 00SOIN 000004 Y&T1a4: SCOPE

965 005016 012746 000340 MOV 8340, - (SP)

967 005022 012746 005030 MOV 8648 - (SP)

368 000002 RTI

969 005030 648 :

§70 005030 012704 177772 MOV -6 RY -SET UP COUNT FOR & REG-BYTES TC BE ACRESEZ
1971 005034 013702 001252 MOV RKWE , R2 :INITIRLIZE POINTER TO RKWC

1972 005040 012700 177775 18: MOV 8-3. R0

1973 005044 013701 001250 MOV RKCS, R1

1974 008050 Q12721 007576 MOV 87578, (R1)+ :SET RKCS BITS

1875 005054 012721 177777 2s: MOV 8177777, (R1I+  ; RKWC

1976 005060 005200 INC RO : RKBR

iggg 005062 001374 BNE 28 : RKDR

{ggg 00S0e4 105012 CLRB  3R2 -ADDRESS 8 CLEAR REGIS BYTE UNDER TES~
1981 00S0b6 010200 MOV R2,R0

1982 005070 042700 000001 BIC $1.R0 ; CONVERT THE BYTE ADRES_INTO WORC

1983 ADRES THAT IT BELONGS 10

1984 005074 011001 MOV 3RO, RI 'GET THE ENTIRE REGIS WRC

1985 005076 032702 000001 BIT s8], R :WAS THE CLRD BYTE HI OR LG®

1986 005102 001003 BNE 33 'WAS HI, BRANCH

1887 005104 042701 177400 B8IC 8177400,R! :WAS LO-MASK HI BYTE

1988 00S1I0 000402 BR 4§

1989 005112 042701 000377 3%: BIC $377,R] sMASK LO BYTE _
1990 005116 001411 343: BEQ c§ 'WAS THE RDDRESSED BYTE CLEARED® BR I YES
199] 008120 010237 001le2 MOV R2, SREGD !GET RORES OF REG-BYTE THAT WARS

1992 :TRIED TO B ADRESED 3 CLERRED

1993 00Si24 032702 00000l BIT 8] .R2

1994 005130 00I40I BEG 118

1935 005132 000301 SWAB  RI

1996 005134 010137 00116 118: MOV R1,$REG! .GET CONTENTS OF REG-BYTE

1997 00SI40 104925 ERROR 25 :TRIED TO ADRES 3 CLR R REGISTER BYTE
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'10 11-DZRKJ-E, RK1l BASIC LOGIC TEST | MACY1l 30(1046) 0B6-JUN-77 14:40 PRGE 39

RKJE.P1! 19-APR-77 09: 14 T4 CHECK THAT HI & LO BYTES OF RKWC.BR,DR CAN BE ADDRESSEC
1998 . (ADRES UNDER 'REG-BYTE' IN ER MSGE;, Clucl
1999 NOT CLERR IT.

2000 00S142 017701 174102 5§: MOV JRKCS,RI
2001 005146 022701 007776 CHP 87776 Rl uns RKCS ERRONEOUSLY CLRD?
A05152 001410 BEQ 6% ANCH
2003 005154 010237 901162 MOV R2, SREGO cst noass OF REG-BYTE THAT WAS
2004 :TRIED TO B ADRESED 3 CLEAREC.
2005 005160 012737 007776 001164 MOV 87776, SREG] :GET EXPCTD RKCS
3006 005.66 010i37 001166 MOV R1,$REG2 'GET RKCS RECVD
2007 005i72 104016 ERROR 16’ 'ALL RK11 REGISTRS WERE LOADED WITH 1'S
2008 ' TRIED TO ADRES & CLR "REGIS- avre' crn ER nso£>
2009 'RKCS GOT CHANGED AS A RESULT. _’(RKCSIEXP
2010 CONTAINS EXPCTD RKCS. °RKCS (RECVD}® CONTRINS
2011 :RKCS RECVD.
c0lZ 005174 012700 177772 6%: MOV $-6,R0 !SET COUNT FOR BYTES
2013 005200 013701 00:252 MOV qué R! 'INITIALIZE PTR TO RKWC
2014 005204 020102 7s: CMP R1.R2 !WAS THE CLERARED BYTE (PTD_TC BY R2}
3018 !SAME AS BYTE 10 BE CHKD (PTD TO BY R1;?
301 005206 001433 BEG 108 IF YES, DO NOT CHK THIS BYTE
3017 005210 010105 MOV R1,RS
2018 005212 042705 000001 BIC 81 RS :STRIP WORD ADDRESS FROM BYTE ROORS
2019 005216 011503 MOV JRS,R3
3020 005220 032701 000001 BIT 81, R1 . 1S THE BYTE TO B CHKD LG OR HI BYTE”
2021 005224 001003 BNE g3’ 'H] BYTE-BRANCH
2022 00S226 Q42703 177400 BIC $177400,R3 ‘MASK HI BYTE
2023 005232 000402 BR
3024 005234 042703 000377 83: BIC $377,R3 :MASK LO BYTE
2025 005240 301016 93: BNE 108
2026 005242 01G237 001162 MOV R2, SREGO :GET_ADRES OF REG-BYTE THAT WAS
2007 : TRIED TO B ADRESED 8 CLEARED
2008 00S246 010137 001164 MOV R1, SREG! :GET ADRS OF REG-BYTE THAT GOT
2029 noneseo INSTEAD
2030 00S252 012737 000377 001166 MOV 377, SREG2 'GET EXPCTD CONTENTS OF RE4-BYTE
2031 : THAT GOT ADRESED
2032 005260 032701 000001 BIT 1Rl
2033 005264 001401 BEQ 124
2034 005266 000303 SWAB  R3
2035 005270 010337 001170 128: MOV R3, SREG3 :GET CONTENTS RECVD FOR THAT REG-BYTE
2036 005274 104021 ERROR 21 ;ALL RK11 REGISTRS WERE LOADED WITH 1°S.
2037 :TRIED 70 ADRES & CLR "REG-BYT1' (IN ER MSGE}
2038 :"REG-BYT2’ GOT CHANGD AS A RESULT.
2039 :'BYT2-EXPCT’ (IN ER MSGE) IS THE EXPCID CONTENTS
3040 'OF REG-BYT2. 'BYT2-RECVD' IS THE CONTENTS RECVE.
2041 005276 005201 108: INC R1 : INCREMENT PTR TO NXT REG BYTE
2042 005300 005200 INC RO RLL BYTES CHKD?
2043 005302 001340 BNE 7% LOOP BACK o
2044 005304 005202 INC R2 INCREMENT PTR TO NXT REG BYTE "0 B ILRC
2045 005306 005204 INC RY :ALL BYTES CLRD?
3046 005310 001253 BNE 13 :LOOP BACK
2047
2048
49
3080
38?5 .SBT". END OF PASS ROUTINE

- EA RS A AR R R AR R R R R R R R AR AR R AR F AR AR R AR AZRARERRRRRRRAR RN
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SRR 2LR: 85

IO

runnonsruroeiao i
P D 2P obapasPpoPpadoh ap-e

oasu4l”
gc113c

0oS414
00004e

CO04
31 300,046, J26-JUN-T? IM:NC PRGE <C
JF PASS ROUTI

; #INCREMENT THE PRSS NUMBER ($PRSS)

;#INDICRTE END-OF -PROGRAM AF"ER | PASSES THRL THE PROGRAM
;#TYPE "END PARSS #XXXXX" (WHERE XXx¥X I5 A CEZIMAL NUMBEP
:#]F THERES AR MONITOR GO TO I7

;#1F THERE ISN'T JUMP TO STRRT!

SEOP:
SCOPE
cLR STSTNM ::ZERC THE TEST NUMBER
CLR STIMES 1. 2ERO THE NUMBER OF ITERA™IONS
INC $PARSS . : INCREMENT TME PRSS NUMEES

8IC ?égQQOO,SPRSS ;;Dbi'T AL.CW R NEG. NUMBER

DEC P?
SEOPCT: .WORD |
BGT SOOAGN

;i YES

MOV (PCY+,a(PC3+  ;;RESTORE COUNTER
SENDCT: .WORD I

$ECPCT

TYPE SENDMG :; TYPE “END PASS 8~

HOV $PASS, -1 5P) ; ;SAVE SPRSS FOR TYPEQL”

TYPDS ;160 TYPE--DECIMAL RSCII WITw SI3N

TYPE SENULL i1 TYPE A NULL CHARACTER
SGET42: MOV &#4e,RO ::GET MONITOR RODRESS

BEQ _ SOOAGN : ;BRANCH_IF NO MONITZR

RESET ;$CLEAR THE WORLD
SENDRC: ISR PC, (RO, ;160 TC MONITOR

NOP : :SAVE ROOM

NOP o

NOP (:RCTLL
SDOAGN:

JMP d(PC)+ : ;RETURN
SRTNAG: .WORD  STARTI
SENULL: .BYTE_ -!,-i,0 :;NLLL CHARACTER STRING
SENOMG: .asciz <ib 12 EnC emst’s

.SBTTL GT3RG: ROUTINE FOR GETTING RKCS, RKER, RrklS

:GT3RG

SUBROUTINE FOR TRANSFERRING THE CONTENTS OF 8k{S, RKER, SkCS

‘70 $REGC. SREGL, SREG2 RESPECTIVELY BEFORE TYPING OUT Ad

:ERRCR MESSAGE.

;CALL: JSR PC.GT3RG

GT3RG: MOV SRKCS, SREGO :GET RKCS
M0y SRKER, SREG] :GET RWER

MCV JRKDS, SREG2 :GET_RKDS R
RS pC (EXIT FROM THIS S.BRILTINE
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CIENC-E. QL. BASIC LOGIZ TEST I MACMIL 3T 1046, 06-JUN-77 18:40 PRGE 4]

Tl 13-APR-TT 0G: 4 373RG: ROLTINE FOR GETTING RK(S, RKER, R[S

.SBT. GT4RG: ROUTINE FOUR GETTING RKCS, RKER, RVIS, &rlk

: 3THRG
suenounrc FOR TRANSFERRING CONTENTS OF RKCS, PKER, PKDS
RKDR 10 SREGO, SREGI sneca $REGI RESPECTIVE. ¢ BEPORE

'TYPING OUT AN’ ERROR MESSAGE

aeALL:  JSR C GTYRG
Q0S92 204737 08434 ST4RG: ISR GT3RG
Q0S+b¥ 217737 173%ke CO1I7C MOV JRRDR SREG3
005472 00S2CT RTS pC

.SBTTL DELAY: TIME DELAY ROUTINE

:DELR
: 1HIS ROUTINE PROVIDES A VARIABLE TIME DELAY. THE CALL FOR ThIS
ROLTINE IS RN ENCODED TRQP INSTRUCTIO

DELA N IS ANY OCTAL NO. FROM | T0 1777
TH%NDSEREOSR?YIDED IS SN US (CONVERT N TO DECIMAL} FOR 11/2C
:IF THE USER WANTS TO CHANGE THE DELAY TIME (EXMP: SHORTER DELAY "C
:GET A TIGHTER SCOPE LQOP} THE VARIABLE 'N° FOLLOWING 'OJELAY" SmOuL
:BF CHANGED TO SUIT THE INDIVIDUARL NEED.

00S474 0.17637 J0003C 3ClZed DE.R.Y: MOV 8.5P), TIMER GE *AMGUNT" (N3 FOR JHICH
00S502 0627!6 000C02 ROD 82, .5P DELAY_IS TO BE PROVIDEC
QDJUST STACK POINTER 75 SKIF JWER N
005506 0CS337 JClae+ is: DEC TIMER :COUNT DOWN 70 C
0oSSle 001375 SN i3
508Si4 200CCe RTI :RETURN 70 MAIN PROGRAM
.SBTTL CON.RESET: CONTROL REST ROUTINE
;<IN

RESET
THIS ROUTINE ISSUES A CONTROL RESET AND WAITS FOR
;THE_"CNTRL RDY® FLAG 10 SET. WHEN THE FLAG SETS
‘AN EXTT IS WADE_OUT OF THE ROUTINE. IF “CNTRL-RDY"
DOES NOT SET WITHIN 3 CERTAIN TIME AN ERROR MESSAGE
. CNT RDY DION'T

PC=XXXXXX RKCS=YYYYYY o

{13 GIVEN, NCTE THAT 00X 19 THE PC WHERE "INT.RESET" OF "INT.81¢

;cAue:  CNT.RESET

l

.SBTTL (NT.ROr: WHIT FCR CONTRIL RERCY RCLT
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wooileIIRel-E. RLD BRSIZ LC3I0 TEST 1 MACYIL 30,1046, 06-JUN-T7 14:40 PRGE 42
SIRRJELPIL13-APR-TT 26:id CNT.RCY: WAIT FOR CONTROL READY ROUINE
glﬁﬁ 1EN, DY
316 !¥HiS ROUTINE WAITS FOR THE CONTROL READY BIT TO SET ANC WHE™ I~
2168 :SETS EXITS OUT. IF WITHIN A CERTAIN TIME CNTRL RDY DOES
2169 :NQT ggt AN ERROR 1S REPORTED. WAITING TIME IS 883 MS FOR 1! zC
21780 :175 M5 FOR 11/45 WITH BIPOLAR MEMORY.
2irl ;CALL:  CNT.ROY
2172 00SSle 0i277r 000091 173524 UN.RST: MOV 81, RS ; ISSUE A CONTROL RESE”
2173 312737 177800 091170 MOV 8-300, SREG3 :SET UP COUNT
2174 005532 00Cu4GE BR CN.RDY+4 :SKIP OVER CN.RCY
3.5 Q06534 005037 001170 CN.RDY: CLR SREGJ
27 005540 105777 173504 18: 1STB  @RKCS :DID CNTRL-RDY SET?
2.7 DOSS44 100435 Ml 38 :YES, EXIT
2i78 DOS546 00S237 00!:7C INC SREG3 :WATYED LONG?
2179 0Q0SSS2 001372 B 18 :IF NOT. GO Eax 3 WAIT
3180 005854 (032777 020020 1°33%k 2§: BI 85K13, ISKR : INHIBIY FYPEOUT
c181 006562 001026 BNE 38 . IF YES, SKIP TYPECLT
2182 00S5e4 104401 TYPE
2183 00SS66 001216 SG3
ciB84 00SS570 104401 (0SS76 TYPE 658 :: TYPE ASCIZ STRING
2186 005574 000M03 BR_ 4§ . ::GET OVER THE RS"IZ
3: ) ::£568: (RSCIZ 1S l12° Pl=z-
3187 00SBOY Bas:
ciB8 00S6DM 011646 MOV (SP), - SP.
2189 005606 162716 00CO02 SuB 02.5P)
2.3 00Sel2 1044 TyPoC :GO TYPE PC IN THE MAIN PROGRA™,
2:91 ; WHERE ERROR OCCURREC
2192 00SelM 104401 005622 TYPE  ,B7S :: TYPE RSCIZ STRING
2.93 005620 000404 BR o6$ ::GET OVER THE ARSCIZ
21 ::678:  .RSCIZ + RKCS=
219 005632 bés:
2i9 005632 017746 17341z MOV JRKCS, - (SP) :GET_RKCS
g;gg 005636 104422 TIPS :60 TYPE IT
€l
2199 00SedC J000CE 38: RTI :RETURN FROM THIS
2200 :ROUTINE TC THE MAIN
220! : PROGRAN
3558
2224 . *HIS PART OF THE PROGRAM CONTAINS THE COMMON ROUTINES A ED
550= :FROM THE SYSMAC.SML PACKAGE
22C7 )
sggg .SBTTL SCOPE HANDLER ROUTINE
ge.c S 3NN R R R R R R R R R R AR AR R R AR A2
22., : kTHIS ROUTINE CONTROLS THE LOOFING OF SUBTESTS. IT WILL INCREMENT
gc.izc '#AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG. (DISPLRY<T:Z
2.2 ¥AND LORD THE ERROR FLAG (SERFLG) INTO DISPLAY(15:08>
224 :#THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
221 ; #5W14=] LOOP_ON TEST
22:k :#SWl1=1 INHIBIT ITERATIONS
zg. : #5W09=1 LOOP ON ERROR
ZZ.E : #5W06= LOOP ON TEST IN SWR<T:D>
22.3 :#CALL
zzze i SCOPE :;SCOPE=ICT
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Z-11-C2RRJ-E, Rr1l BARSIC LOGIC TEST I MACYLL! 30¢1046) 0b-JUN-7T 14:40 PRGE 43

SIRkJE.PLS 19-RPR-T7 09: 14 SCOPE HANDLER ROUTINE
2222 005642 $SCOPE :
3323 00SeM2 104407 CKSHR .TEST FOR CHANGE IN SOF™-SkF
3224 005644 032777 040000 173266 1S: BIT 091114 2SWR ,.LO0P ON PRESEN™ TEST?
2225 008652 00111l BNE OVER ES IF SWid=]
2226 . 88888START OF coos FOR THE XOR ttsrznccnoo
2227 005654 000416 §x7STR: BR &S RUNNING ON THE "XOR“ TESTER ~gn,s
2228 THIE ; NSTRUCTION TQ A “NOP™ (NGF=2
22c9 005656 013746 000004 MOV JWERRVEC.-(SP) | iSAV CONTENTS OF THE ERRGR /e:';p
3230 00Sebe 012737 005702 000004 MOV 85S, S8ERRVEC .,ssr FOR rxnaou
2231 005670 005737 177060 ST 38177060 TIME OUT ON XOR?
2232 00Se7™ 012637 000004 MOV (SP)+. 98ERRVEC ,.RESTORE THE ERROR VECTOP
3233 005700 000463 B8R gSvLRb 0 THE NEXT T
2234 005702 (022626 5§: cMP (SP)+, (SP)+ EE ngér nsr RATIME C.°
2235 005704 Q12637 00000+ MOV (SP)+. IBERRVEC ,,R TORE ERROR VECTCR
333t 005710 000423 BR 78 : ON THE PRESENT TEST
3237 005712 63:: 888%8END OF CODE FOR THE XOR ?ESTER:::.:
2238 005712 032777 00CNO0 173220 BIT $81T0B, ISR ::L00P_ON SPEC. TEST”
2239 00S730 001404 BEG 28 :BR IF NO
2240 005722 127737 173212 001102 CMPB  JSWR,STSTNM ,,on THE RIGHT TEST?  SWRT:Z
2241 005730 001462 BEQ SOVER 18 IF YES
5242 005732 105737 001103 23: TSTB  SERFLG HAS AN ERROR OCCURRED”
2243 005736 00142l BEQ 33 ::BR IF NO
2244 005740 123737 001115 021103 CMPB  SERMAX,SERFLG ;;nnx. ERRORS FOR THIS TEST CoCURRED®
2245 Q0S746 101015 BHI 38 I F
334¢ 00S7s0 032777 00100C 173182 BIT 881709, ISR ::L00OP ON ERROR?
3247 005756 001404 8EQ 4 ::BR IF NO
2248 005760 013737 0011i1C ONi106 T%: MOV $.PERR,SLPADR  ;:SET LOOP ADDRESS TO LAST SIIPE
2249 005766 Q00443 BR §OVER
250 005720 105037 001103 4§: CLRB  SERFLG :: 2ERO THE ERROR FLAG
2351 005774 005037 001206 CLR STIMES ::CLEAR THE NUMBER OF ITERATIING ™7 ™arS
2252 006000 000415 BR 1€ :ESCAPE TO THE NEXT TES®
2253 006002 032777 004000 173130 38: BIT 8B{Ti!. 3SKR ,.INHIBIT ITERATIONS”
2254 00e010 001011 BNE 18 ::BR IF YES
2255 (006012 005737 001100 15T sPnss . ;. IF FIRST PASS OF PROGRAM
2256 006016 001406 BEQ i INHIBIT ITERATIONS
2257 006020 005237 001104 INC sxc .- INCREMENT ITERATION COUNT _
2268 506024 023737 001206 001104 CMP STIMES, SICNT ::CHECK THE NUMBER OF ITERATIONS MACE
2269 006032 002021 BGE sovs :1BR IF MORE ITERATION REQUIRED
2280 006034 012737 000001 001104 1S: MOV (iREINITIALIZE THE ITERATION bLN'
226l 006042 013737 006112 001206 MOV snkcwr srxnss ;iSET NUMBER OF ITERRTIONS T0 5
2262 006050 105237 001102 SSVLAD: INCB  STSTNM :COUNT TEST NUMBERS
2263 006054 011637 001106 MOV (SP), SLPAOR ..snv: SCOPE LOOP ADDRESS
2264 006060 011637 001110 MOV (5P) | $LPERR VvE ERROR LOOP RDDRESS .
2265 006064 005037 001210 CLR SESCAPE ::CLEAR THE ESCAPE FROM ERROR ADCREZS
2266 006070 112737 000001 301115 MOVB  #1,SERMAX SIONLY ALLOW ONELI) ERROR ON MEX™ “ES
ceb7 006076 013777 001102 173036 SOVER: MOV STETNN, aDISPan ..DISPLRY TEST NUMBER
2268 0OOEI10Y 013716 001106 MOV SLPROR. (SP ::FUDGE RETURN ARDDRESS
€263 00ellQ 00CO02 RTI . :FIXES PS i
gs;l 20€1.2 0070SS SMXCNT: 50 : :MAX. NUMBER OF ITERATIONS
zge/
375
2272 SRR EREERRRR S AR R AR R R AR RN R RN AR R R RN RN RS RN IR RPN RN N NI
2274
gers .SBT"L ERROR MANDLER ROJTINE

(#SW]5=l HA_T IN ERRCR
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=y :::,'-E 9\. BARgIz JOGIC TEST ! MACYLl 30(1046) 06-JUN-TT  14:92 P&GE 4
R IEI -APR-TT 29: 34 ERROR HANCLER ROUTINE

22> : #5K13=! INHIBIT ERROR TYPEOLTS
EEn : #5W10-1 BELL ON ERROR
s28C : #5109=] LOOP ON ERROR
326! : #5W]12=1 CYCLE ON ERROF 7O PREVICLS "SCOPE’
5535 :#GO TO SERRTYP ON ERROR
384 006114 104807 SERROR: CKSWR ;CHECK FOR SOFTWARE SWIT0m EM73- 2€,.£3°
2285 006116 108237 001103 3. INCB  SERFLS T THE ERROR FLAG
2286 006122 00177S BEQ 78 ) ‘BON'T LET THE F.AG GC T3 ZEF:
2287 006124 013777 001102 173C10 MOV §TSTNM, 3CISPLA™ 'CISPLAYT TEST NUMBER AND ERRCR 7_%)
3388 006132 00S237 001112 18: INC SERTTL {COUNT THE NUMBER OF ERRORS
3289 006136 011637 001116 MOV \SP), SERRPC :GET ADDRESS OF ERROR INS™RUC™I M
329C 006142 162737 000002 0OC1116 SUB 82, SERRPC
2291 0Q0€is0 117737 172742 201li4 MOVEB  aSERRPC,SITEME :STRIP AND SAVE “HE ERRFIF [7Ev 1.i¢
3332 006186 032777 (020000 1727SH BIT #5113, 35WR ;8w 1P TYPEQOUT IF SET
2293 006164 0OI0QY 8NE 28 Sk IP TYPEQCUTS
2299 006leb 04737 006264 3R PG, RSERR™YP 53770 USER ERROR RO_™:
229 006172 104401 0Ci213 *YFE $ERL
3396 006176 023737 000082 200048  28: CMP énqa asue -ARE WE IN ACTI1 ALTIMATIC “IZE~
3397 00620M 001403 BEQ +10 :1F YES, WALT ON ERRCF
3298 005777 1TeTae 757 asun ‘HALT ON ERROR
2299 00e2le 100002 B8PL 38 :SKIP IF conrxnus
2300 006214 00000" uaLT ‘HALT 0"05 .
2301 006216 1044/ CKSHR (CHECK F sor'unns SwITlm ENTS . SEL_E:T
2302 006220 032777 01000C (72712 3S: BIT #SW12, ASuF su 12 ssrv
2303 00b226 001402 BEa +6
2304 006230 0I371€ 001196 MO §_PROR, .SP noJJST neruau ADRES “2R Sw.Z
2305 0062 032777 OCI000 1°2e"t BIT #SK09, :san :LOOP ON ERROR SWITZh SE™°
2206 006242 001402 BEQ 48 .a IfF NO i
2377 006eMd 213716 00111C MOV SLPERR FUDGE RETURN FOR _OFING
Z3C8 0062SC 005737 90121C 48: 157 sescapt .ynccx ron AN ESCAPE ADCRES:
2309 008254 001402 BEJ 58 :BR _IF NONE o
2212 006356 C13Tle 00i2:C MOV SESCAPE. . SP 'FJOGE RETURN RDDRESS §3% €357
23i1 COeeée 200Ce cs§: RTI IRETURN
23:3 .SB”"L [ERRJR MESSAGE TrPEOLT RCLTINE
22:c nuuuiunnuuunnuututuuuunnuunuuunnu
23t ngsa ROUTINE USES THE “ITEM CONTROL BVTE™ .SITEMB) YJ oevznnfns asIie
3307 3R 1S 10 BE SEPORTEC. I THEN OBTAING, FROM THE "ERROR TRBLE™ SER<"Z |
gg;g "%AND REPORTS THE APPROPRIATE INFGRMATION CONCERNING THE ERROP.
2320 00beed SERRTYP:
3321 00E264 10440 00:213 TYPE CRLF :.”CRRRIﬂuE RETJRN™ 3 “_INE FEEC™
2322 006273 01004 MOY &0, - <SP :SAVE RC
2323 72 005500 SR RC IPICKUP THE ITEM INCEX
OB ah e e R e e 1 e o
[ &~ HH 3
2326 5 ZERROR
2327 006302 013746 2CI!i6 MOY SERRP. - SF snvz scnnpc ron T\PE»L'
:55% snnon AODRESS
2229 006306 104402 TP Go_TYPE--OCTAL ASCIIT(ALL DISITS
£33C 206310 0OCOM BR 3 ) : JLT . .
g22i o0bzle 882 18: CEC 2 ac 7JST THE INDEX SC THRT 17wl
2332 ZZedl ald RE.  &C WOk FIR “HE ERPSS RE_E
zIz Ie2ie 22e3lC 4. o



GJ4

wo o -TIRe-E. Qe.. BASLC wcess TEST . MAZYLL 3001046, JB-JUN-TT  14:4C PRGE S
T S-S 13-APR-=2"39: 4 EPRCR MESSASE TYPEQUT ROUTINE
23N 320 0063 A R
3335 8323&2 062700 201272 133 -Esnara RO ::FORM TRBLE PGINTER
233t 006326 Q012037 00633% MOV RO+, 24 : 1PICKJP "ERRCR MESSAGE™ PCINTES
2337 006332 001404 £Q 3s ’:§K$P TYPEOUT IF MO PCINTER
3338 2063 104401 YPE i FvPE THE "ERROR MESSHGE"
2342 C:2:3 IR sL g " FEEC
234, 882334 61209? 006353 33: MUY IRG )+, us ;;Picxu$n95a§5 choss- 551~vs
3342 006350 001404 BEQ 53 ::SKIP TYPEOUT IF O
2243 206352 104401 TYPE i TYPE THE “DATA MEADER"
Z343  00b3SY 000000 48: JWORD O :1“DATA HEADER" POINTER GOES WERE
I35 006356 10440: 001213 TYPE SCRLF :1~CARRIAGE RETURN™ 8 "LINE FEEZ”
Z2+& 006362 011000 5§ MOV RO} . RO :1PICKUP "DRTA TRBLE™ PCINTER
Z34T 006364 001004 BNE T3 ::1G0 TYPE THE DATA
2348 00636k 012600 58: MOV SP;+,R0 : :RESTORE RO
$349 006370 10wH4C: 3C:i2:2 TYPE §CRLE ::»CARRIAGE RETURN™ 8 “_INE FEEC”
Z3sC 00e3ITN 000207 RTS 3C : s RETURN
3351 (06376 ~3:
2352 006376 01304 MOY 3(RO:+,- OP . :SAVE J(RO)+ FOR TYPEOLT
3353 (006400 104402 TYPOC :1G0 TYPE--0CTAL ASCII AwL CI3i”:
3384 00e402 205710 157 (RC) i1 ]S THERE ANOTHER NUMBER’
2355 00e+0M 001770 BES &3 ::BR IF NO
235 00B40e I1044CI 3Ce<!= TYPE 83 ::TYPE TW012! SPRCES
5357 40641z J90T: B8R ’s ::L20P
2358 720e414 220040 030 83 LASCIZC . 1740125 SPACES
33E9 ace423 -EVEN

2362
J3BTTL  TTY INPUT RCUTINE

i
i

;éliilililll“lll{i‘liiliill‘f‘liii!liiiii!”i}}{fif{i’ii}liif’fi’f’{f
.ENRBL LSB

Rt
nLto

D RRERANEERARERAARRARRRRREARRRFRLEFRRRINRRRFRRRREIEFERGFRRSR2ALS

3

E

E

3

23k

23€7 : ¥SOF TWARE SWITCH REGISTER CHANGE ROUTINE.

3368 : $ROUTINE 15 ENTERED FROM THE TRAP HANDLER, AND Wl..

239 :#SERVICE THE TEST FOR CHANGE IN SOF TWARE SWITCH REGISTER TRAS ‘..
£37¢ » : xlHEN OPERATING IN TTY FLAG MODE.

2377 00g420 022737 200176 201:4C CKSWR: CMP  SSWREG, SWR ;115 THE SOFT-SWR SELECTEC’

372 D042t 001074 BNE 158 : 1BRANCH IF NO

2373 206430 105777 172510 15TR 38TKS i iCHAR THERE?

2374 DDEY3% 130071 BPL 158 :1IF NO, DON’T WRIT ARCLNC

2375 00e436 117746 172504 Move 38Tk, -(SP: ;1SAVE tHE CHAR

3376 D0p4d2 Q42716 177600 BIC  81C17?, 5P, : 1STRIP-OFF THE ASCII

237 00e44€ Q2272e DOCOC? MP 97, (SPhe ;115 1T A CONTROL &°

2i7e DCe#s? 0CI06S BN IS :iNQ, RETURN TO USER

3379 D0e484 123727 001134 30CCC: NP3 $AUTOB. s :1ARE WE RUNNING IN ALTC-MIZE®
238C 00462 001456 BEG  IS$ : :BRANCH IF YES

2362 Q06484 104401 OCTI4S TVPE  ,8CNTLS ::ECHO THE CONTROL=G .°5

2203 DOe470 104461 2C7IcE §37SuR: TPE | SMSWR }1TYPE CURRENT CONTENTS

2364 208474 013746 20017E MOv_ SWRES.- S°. { 1SAVE SWREG FOR TYPEQL™ i
£38c 206500 104u402 TYPSC '1G0 TYPE--OCTAL ASSII.Au. CISITS
238 06802 104401 0C7.e2 “tPE,SMNEW : :PROMPT FOR_NEw SilF

2287 206ECE 0SCHE ! TR U N ::CLERR_COJNTER

I3 JCEEIT 30BN CR -.5F ;iTHE_NEW_SWF

2323 IZEEIZ 38577 itz ~%: MAC T M LIIMAR THERE



t ¢
ot
n
»

(34]

ulufuryrVNYIVIVIUNY

BEH

-

o

20316

208527
30£334

6530
oL eS3u
3%

7

4
Jxke7’le
SOE7lE

15-RP8
J2C378

3ideck
135777
13C37¢

TR0 ToEL s Brgll tal

e

00Jces

007140
S0Ca0e

JCCCLS
00coC4
0000g2
0CCoos
001213
001135
00C100

007344
06006C

coa06”™

03006C
000C3e

OG0CCH
17g22¢

TesT

2346

9"

Qoceal
172324

£0Coge

alv;. 33 12

hah g

BPL

17s:

1
4

lD [¢ 4]

SABL

SERRARRARBERERREERFRPEREFERERF AR AR RN RN SRR RN R RN ERERRERREERRRRIRR

e ¥ PJL

§: TrPE

%,

HU4

E-J h-""

INE

i
o$7¢8,- 5

gt

(V)
o

.SP -, 828

108
SCNTLL
bt <P
194

SP,
168
4(SP)

2(5P}, JSWP
86, 5P

SLR F
txﬂrnc sl
15§

nxoc STKS

PC,STYPES
\sﬁ) 860

tSP‘ 8E7
18%

360 (SP;+
p\

815

[P
a s e

PruaE <&

1 IF NOT TRy AGRIM

::18 17 A CONTROL-U
ann CH IF NOT
: (ES ECHO CONTROL-J ‘.
: IGNORE PREVIOUS xnpu
.._sv'c TRY IT AGRIN

15 IT A (SR>?
..eaancu IF NG
xs IT THE FIRS® =@
egaﬁfu YES

CINTERR_E"3
INTEQR_PTZ

YES
: :STRIP-OFF ASCI!
"Ba THIS THEEEIRST
.,NO SHIFT PRESENT
A CHAR OVER TO MRKE
:: ROOM FOR NEW ONE.
.,KEEP COUNT OF CHAR

:SET IN NEW CHAR

::GET THE NEXT ONE
3 TYPE ?<CRO<LP>
1 SIMULRTE CON'ROL‘J

CHAR

irﬂxs ROUTINE WILL INPJT A SINGLE CHARRCTER FROM THE TTY

iCﬂLL

:* ROLH MR

™ RETURN HERE

;'l

SROCHR: ngv (SPj -(SP
MOV 4ispy,2 e

is: T€T8 3%TKS
BPL 18

;JNPUT R
;s CHARACTE
;iWITH PARITY BIT STRIPPED JFF

..PHSH OHN THE PO
PS

..HQIT FOR
::A CHARRCTER

;INGLSN.HRRQCTER FROM TWE 77



HRCTIN S
Z94b

2447
3448

cafro B
b

Y

006720

0C7J12

007320

Qcra22
007024

007ie3
oo7i7e

R Sl LoGie
§apetHRiagryy

117766
836e33
R0l

Q42766
00Cco0e

03e440

172222
406888
172174
172179
60002
002004
£OCOCH
20024C

007130
00714C

000177
gol2le
007126
007126
000015
177777
001214

000004
007130

00c01s
006507

047040
000040

TEST !

0030C+

388623

03C142
coc1Ts
J3300%

000002
0000304

030
000012
020122

0S3505

ITu4

?&E\iép&?\égj?iNeﬂb-JUN-T“ 14:4C PAGE 47

2s:

33:

43

MCVE J8TKB, 4 (CP)
81CC177) 4(SP)

I
E: 4:8p), 823
?sga Sszs
BPL 2
MVB  2$TKB,-(SP.
BIC #1C177, (5P,
CMP (SP)+, k21
BNE 2%
B8R 3

RTI

1

cMP 4(SP), 814C
43

cMP 4Y.5P),8!7S
43

BIC #40, 4 (SP)

::RERD THE TTY

1:GET RID OF K IF ANY
;;?E IT 2 SON{HSL-§°

: : BRANCH &F N8

::WAIT FOR R CHARACTER
;:LOOP UNTIL ITS THERE
1:GET CHARACTER

;:MAKE IT 7-BIT RSCII
:: IS 1T R CONTROL-Q”

;i IF NOT DISCARD IT

. YES, RESUME

115 }T UPPER CARSE”

; ;BRANCH IF YES

;1S IT A SPECIAL CHAR”
; :BRANCH IF YES

; sMAKE 1T UPPER CASE

: GO BACK TO USER

R R R RN R AR R AR R AR RN IR NSRS IR R AP0 4

:#THIS ROUTINE WILL INPJT A STRING FROM THE TTY

+#CALL:
2

33:

STTYIN: .
SONTLU: .
SCNTLG: .

SMSUR:
SMNEW:

.SBTTL

ROLIN
RETURN HERE

: MoV R3, -(SP,

MOV s3HTYIN,R3
cMP s3TTYIN+S. ,R3

BLOS 43

MOVB (SP)+,1R3)

TYPE $QUES
B8R is
MOvE  (R3),38

TYPE RCUTINE

CMPB  8177,[R3)
s

93
CMPB kiS5, (R3:+
BNE 28

;: INPUT A STRING FROM THE TTY
; ;ADDRESS OF FIRST CHARACTER WILL BE °N THE
;  TERMINATOR WILL BE R BYTE OF ALL C°S

;:SAVE R3

;:GET ADDRESS

1 :BUFFER FULL?

;:BR IF YES

1:G0 READ ONE CHARACTER FRCM THE 77
1 GET CHARACTER

.. IS IT A RUBOUT

1:SKIP IF NOT

;TYPE A ?°

:;CLEAR THE BUFFER AND LOCF
1 :ECHO THE CHARACTER

: ;CHECK FOR RETURN

::LOOP IF NOT RETURN

; ;CLEAR RETURN (THE iS:

+;TYPE A LINE FEED

: ;RESTORE R3 L

: ;ADJUST THE STACK AND PUT ACDRESS CF THE

0 FIRST ASCII CHARACTER COH 1T
; sRETURN
; ;STORAGE FOR RSCII CHAR. TC TYBE
;s TERMINATOR ‘
:;RESERVE B BYTES FOR TTY INFLTY
;i oONTROL U™
; ;CONTROL "GQ"

-y~
A

Cr



J J4

“ ., IIReC-E. Rr'x duS C LOSIC TES™ 1 MACYIl 30(1046) 06-JUN-T7 14:4U PAGE 48
o I 9-5PR-"7 09: 14 TYPE ROUTINE

2522
gé"} Illlliiiiilllllliilllllllllllillilllliliillllllillllliiiilllli}
=2 e e e e e D T
5§8§ H‘g k EONTRINg ? SHARHE*ES ge E THE fILLEi punpaf'rp

, | NOTE2: SFILLS CONTRINS THE NUMBER OF FILLER CHARACTERS REQUIREC.
§§8§ lNOTE3 §FILLC CONTRINS THE CHRRACTER TO FILL AFTER.
3519 ’* CALL:
2511 *1» usxnc A TRAP INSTRUCTION
3512 TYPE  ,MESADR . ;MESROR IS FIRST ADDRESS OF AN ASCIZ STRING
2813 .on
2514 ,l TYPE
2515 T¥ MESADR
it
g /
2518 00;1?4 105737 00l157 §TYPE: égle ?;PFLG .15 THERE A TERMINAL?

48

z&éE Iﬂ?ggg 688888 HALT ,.HAL* HEEE IF NO TERMIMNAL
2521 m7eoq 000407 BR 3 ,.Lenve
2522 010046 18: MOV RO, -(SP} $:5 8

3 'Ir 017600 000002 MOV 321SPY,RO ..GET no RESS OF ASCIZ STRING
2 7 112046 28: MOVB  (RC)+,-(SP) :PUSH cunnac;s$ ;osas 'YPFD uzrc STAZK

N 4 H
8852 75é8 88293z B W, 108 JERhInATR pORE  TESREMOTER, .
Sgag 003222 015300 000002 ggs 2°” (gp)§¢?0 "RESLO$ER§$URN PC
. 82, ( i
2258 DO7e8 BBSaLS A% : ARTRY
2530 007232 122716 00001 4§ CHPE  #HT,(SP) : 1BRANCH IF <HT>
2631 007236 001430 BEQ 8%
2632 007240 127 .p 000200 CMPB  #CRLF, (SP, . :BRANCH IF NOT 'CRLF>
3233 007244 001206 BNE 1
2534 007246 005726 15T (SF14 $1POP_ <CR(LF> EQUIV
2535 (007250 104401 TYPE :TYPE A CR AND LF
2536 007252 001212 $CRLF
2537 007254 105037 007410 CLRE  SCHARCNT ..VLEQR CHARACTER COUNT
2538 007260 000755 BR 28 GET NEXT CHARACTER
2639 Q07282 004737 00734+ 53: ISR PC, STYPEC Q TYP$ THI? ﬁunnncrﬁ
sgqo ﬂ'7595 6 758 001156 E3: cMPB  SFILLC, 13Pie i IME FO FILLE ZHARS.
31 007 13 BNE. 28 f NO G0 6
2542 007274 013746 001154 MOV §NULL, -/SP" ..G- s OF FILL R cunns "NEECEC
5643 g THE NULL CHAR,
%44 007300 105366 GCOOC!L 73: DECB  1(SP) ..oo S A NULL NEEC To BE ~reEC”
. B B T LSO e
4 “

9 " g 5 185337 a7410 oéce SCﬁgRLNg D3 NOT COUNT RS R COUNT
5235 00731 00077C BR s S1L00P
522? :HORIZONTAL TAB PROCESSOR
Sggg 887330 12716 000040 6% : MOVB  8' ,(SP; . ;REPLACE TAB WITH SPACE

3 73c4 004737 007344 3% JSR Pc $TYPEC TYPE R SPACE

25t4 007330 132737 000007 G0O7HIG BITE 47, SCHARCN ..ennncu IF NOT AT
ceer BR743R BRI g6 ?gp,+ 22#0? 8L oFF STaCk
2227 30724z J0C72+ oF 2 15ET NEXT CHARACTER



b4
“ L JZRRIEL ReIL CLOGlc TEST L Y1l 30.1046. D06-JUN-77 14:40 PRGE 43
ERCT - : ;§-5¢R?9§109?Y3 YPE Aou?ing

2558 007344 7~ 171600 STYPEC: T TB ’TP .:WARIT UNTIL PRINTER 13 REACY

seg3 88"329 &5

3 n 000002 17:572 nova (SP1,387PB ..LORO CHAR TO BE TYPEL IN'C Ca™r =E,
2561 007360 ?§z7§s 000015 000002 §f§ ngn.assp> éé cnnnnsrgn A CARPIAGE RET_FN-

[}t ]
2@25 Iﬂ?39ﬁ 007410 8 i HARCNT B Q!-CLé LHQRGCTEP IOUNT
Sopd D073y Doonce 0ooCle  2920C s B ’TYP xsp HARACTER A LINE FEE
? 191919} 1 . ( ) ' ' L N :"

oep BBCd0R AfiRs C00C! e BE‘S §h5efs éﬁaﬁcﬂ P ToES

2667 DO7406 105227 INCB (pf)o :COUNT THE CHARACTER

3668 107415 900500 SCHARCNT: . WORD O cuanncrsn COUNT STLRaLE

gggg 007<12 2J00257 STYPEX: RTS PC

[ /U

2571

ng _SBTT. CONVERT BINARY TO DECIMAL AND TYPE ROUTINE
287+ innunnununnnuuuuuuiuuuuuiunuuuuun
2875 iTHxs ROUTINE 1S USED TO CHANGE A 16-BIT BINARY NUMBER TC A 5-0IG:~
gg%g lSXGNED ogcgnnL (escx5) Nun$§REngo ;SEE IT. DSTE“DX“?fﬁ"H?“ET“E“ ';E
2= N v L M
5Eg g g R TR N e e i W
L iREPLRCED HITH SPACES.
2586 s %CAL.:
258! ¥ MOV NUM, -(SP) .:PLT THE BINARY NUMBER N THE S7H(»
gggg iy TYPDS ::GO TC THE ROUTINE
2584 007414 $TYPDS:
358 107414 01004E MOV RO,- SP° - :PUSH RO ON STACK
2€8E 0074I6 D1014E MOV RI.-15pP, :PUSH Rl ON STACK
352~ Q07420 010246 MOV R2.-.SP, ::PUSH R2 ON STACk
€28 007422 010346 MOV R3.-(SP) ::PJSH R3 ON STACK
5589 007424 010546 MOV RS -(SP, ::PJSH RS ON STACK
Z£30 00742t Gleov4e  §2022C MOV :8b=oo,— gp» - QET gLnnxngu TCH nng SIGN
325] 007432 016605 D000 MOV 20(%5P. " i e Ineut
3832 007436 100004 8P, 18 (:BR IF INPUT IS POS
2593 (007440 00SH40S NEG PS {IMAKE THE BINARY NUMBER 20S.
2594 007442 112766 0000SS 252GC. MCVB -, 1(5pP} . :MAKE THE ASCII NUMBER NES.
2635 Q07450 00S000 is: JLR R :: ZERO THE CONSTANTS INDEX
259 007452 012703 007630 MOV usoaLK R3 SISETUP THE OUTPUT POINTER
3637 (OCr456 112723 000040 MCVB LR ;.:ET THE FIRST CHARRCTER "2 &~ S_whe
2c98 007462 005002 23: SLR Ra . Lsnn THE BCD NUHBER
2699 007464 016001 007620 MOV §CTBL(RD .%. 1GET THE CONSTANT
260C 007470 160105 23: SuB R1.RS .. FORM THIS BCO DIGIT
26C1 007472 002402 BLY 4§ ::BR IF DONE
2602 007474 005202 INC R2 :  INCRERSE THE BCOD DISI™ B .
3607 007476 000774 BF g
2624 007500 060105 43 ADD R1.RS ::ADD_BACK THE CONSTANT
2605 007502 005702 veT &2 ::CHECK IF BCD DIalIT=3

N 5 ¥

%289 §§§§8§ °§0 16 ¥6s 3 ST&LL oo? ¢ 8ot 25

608 10 40? BMI 73

agqg 007515 106316 cs: gs;e é;p‘ ;s °

551; 88 {3 2223 goocol  177rTY Move 1.5P). ~1.R3. ":ss--se? THE SIgN

25,z 097824 (0S2702 (0000el £s: BIS 20,62 :MAKE THE BCD DI3IT RSCIL .
2:.: 20TE3C 052702 000040 78 BIg u' CE) SiMAKE 1T & SPRCE IF NOT RLSERDY A ZILC



LU4

wT L IR -, RRl. BRSI. LOGIC TEST L MACY!. 3003246, DB-JUN-TT  14:40 PRIE SC
iIm e b, 19-APR-TT 09: 1Y CONVER™ BINAR: Y2 DECIMAL AND TYPE RCUTINE

2e.v 207534 1.2223 MOVEB  R2,(R3 + :PLT THIS CMARACTER IN THE S_TF.™ 2 FFE=

3815 D0~S36 005720 ST (R:+ ..JUST INCREMENTING

26.6 007540 020027 0C00i2 IMP RO, #10 :CHECK THE TRBLE INGEX

6.7 ",swu 27496 BLT Si ..GO Qo )\ NEXT olGiT

26i8 007546 3002 86T

2619 007550 010802 MOV RS, R2 ..GET THE LSD

2620 007552 0007eM BR 68 GO CHANGE TO ASCI!

ggsl 88;352 188755 8s: 1578 (SP,+ WAS THE LSD THE FIRS™ NON-ZER-"

% g 60 i Esg 1 177778 ESbe q?fSP) 2(RI) "Bgsl S ? THE SIGN FCR ~ /P IN;

E 00 yoaradiR T - -2 -- v 3

2 54 15;255 106013 9 CLRB (R3) ..ssr THE TERMINATOR

2625 007570 012605 MOV (SP)+ RS :POP STACK INTC RS

2626 007572 012603 MOV (SP)+ R3 ;;POP STACK INTO R3

2627 007574 012602 MOV (SP)+ . R2 :POP STACK INTO RZ2

2628 007576 012601 MOV (SP)+.R] ..POP STACK INTO R!

2629 007600 012600 MOV iSP)# RO ,.POP STACK INTO RC

2630 007602 104401 007630 TYPE W TYPE THE NUMBER

Sggé ﬂﬁ7205 16666 0000C2 000004 MCh é(ép) 4(SP) RDJUST THE STACK

007614 01261E nov 14 (S
1) & HH J
2633 007616 000002 RETURN TO JSER

% 34 $07BL: 0000
363 §§;§§g §§éi§§ 888
3637 007626 00002

S%gg 00753C 000004 $0B.K: BLKH Y

35::0 .SBTTL BINARY TO OCTAL (ASCII) AND TYPE

sgq li!!i*l!llliiii*ll{{**!l‘ll!‘l‘l‘lllillii‘l!li*lf{{llliiill’l’llllfi’l

2643 lTHIS ROUTINE IS USED 10 CHRNGE A 16-BIT BINARY NUMBER T2 A E-DISIT

44 :»0CTAL (ASCII) NUMBER AND TYPE IT oL

86:2 {EAEPCS°--ENTER HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DiGI™S ~: ~r®¢
i J L:

ob47 ¥ MOV NUM, -(\SP) ..NUHBER TO BE TYPED

2648 2 TYPOS CQLL FOR TYPEOUT

2649 o B .BYTE N ;:N=1l TO 6 FOR NUMBER CF DIGITS T2 YRt

2650 T .BYTE M iiM=1 OR 0

2€5] ¥ 1=TYPE LERADING ZERQOS

gggg D ¥ 0 SUPPRESS LERDING JERJS

2 ;#

2654 : #$TYPON----ENTER HERE T2 TYPE OUT WITH THE SAME PARRMETERS RS “WE _RS™

2658 :x8§TYPGS OR STYPOC

265¢& %CALL:

56E7 ‘¥ MOV NUM,-.SP) : NUMBER TG BE TYPED

Sggg s # TYPON ;:CALL FOR TYPEOUT

2660 1 #$TYPOC---ENTER HERE FOR TYPEOUT OF A 16 BIT NUMBER

2bt! s #CALL:

2bbe ¥ MoV NUM, - (5P} ;NUMBER TO BE TYPEC

sgga H TYPOC ..CQLL FOR TYPEQUT

26bS 007640 017646 000000 STYPOS: MOV 9(5P),.-(ESP) +;PICKUP THE MODE

2666 0076M4 116637 000001 O120E23 MOVB 1(SP),SOFILL ::LOAD 2ERD FILL SHIT»H

266”7 007652 112637 010065 MOVB (SP;+ SOMODE+] ..NUHBER QF DIGITS "0 "vPE

26e8 007656 0e271€ 000002 RDD 82, (Sp) : :ADJUST RETURN RCDRESS

eeS 207662 0O0040E 8r $T71P0N



1o
14
WP

= .. CoRvJ-E, RK I{ LOGIC TES™ 1 MACY 0.1046. 0&-JUN-77 40 PRGE S
Tuas teopTi T e BRAAR353 5008 BIN 0 OCTAL «ASCII) AND TvPE
70 7664 112737 2 l STYPOC: MOV ] F ::SET TH RO F1I TCH
B i R U :835 it gl Bl e
28 QIR MRS move A3 30&p] 18RV 'R
cb74 007710 010446 MOV RH -(SP: ..SRVE RY
eb7S 007712 010546 MOV 5 -(SP) ; SAVE RS
2676 007714 113704 010065 MOVB SOﬁODE¢1 RY ;;GET THE NUMBER OF DIGITS 70 TrPE
2677 007720 00S404 NEG
2678 007722 062704 000006 RADD IB RY ;3 SUBTRACT IT FOR MRX. AL.OWEC
2679 007726 110437 010064 MOVEB RY, SOMODE ::SAVE IT FOR USE
2680 007732 113704 010063 MOVB SOFILL.RY ::GET THE ZERO FILL SWITCH
2681 00773 016605 000012 MOV 12(SP),RS ::PICKUP THE INPUT NUMBER
2682 007742 (005003 CLR R3 ..CLERR THE OUTPUT NORD
2683 007744 006105 18: ROL PS : ;ROTATE MSB INTO
2684 007746 00040M4 BR 3% ::GO DO MSB
2685 007750 006105 23: ROL RS :;FORM THIS DIGIT
2686 007752 006105 ROL RS
2687 007754 006105 ROL RS
2688 007756 010503 MOV RS,R3 i
2689 007760 006103 33: ROL R3 ::GET LSB OF THIS DI3!”
2690 007762 105337 010064 DECB $OMODE ..TYPE THIS DIGIT?
2691 007766 100016 BPL 7S :BR IF NO
07770 D842703 177770 BIC #1777?0,R3 ;;GE' RID OF JUNK
2693 007774 001002 BNE 4§ :;TEST FOR Q
2694 007776 005704 TST RY ;;SUPPRESS THIS Q7
2695 010000 001403 BEG 1 ::BR IF YES
269% 010002 005204 4g.: INC RY :DON'T _SUPPRESS ANYMORE C°
2697 010004 052703 000060 BIS %'0,R3 ‘MAKE THIS DIGIT ASCII
2698 010010 0S2703 000040 5%: BIS s’ R3 :MAKE RSCII IF NOT GQLREAC-
2699 010014 110337 010060 MOVB R3,83 :SAVE FOR TYPING
2700 010020 104401 010060 TYPE a4 :GO TYPE THIS CIGIT
2701 010024 105337 010062 78: DECB §OCNT ..uOUNT BY |
2702 010030 003347 BGT 2% ,.BR IF HORE T0 C0
2703 010032 002402 BLT &S :BR IF DONE
2704 010034 005204 INC RY ..INSURE LASY DIGIT ISN'T R BLaNk
2705 010036 000744 BR 23 :GO DO THE LRST DIGIT
2706 010040 012605 5%: MOV {SP)+ RS ,,RESTORE RS
2707 010042 012604 MOV (SP)+,RY : ;RESTORE R4
2708 010044 012603 MOV (SP)+,R3 ; RESTORE R3
2709 010046 016666 000002 000004 MOV 2(SP},4(SP, ::SET THE STRCK FOR RETURNING
2710 01004 012616 MOV {(SP)+, (SP}
2711 010056 000002 RTI RETURN
2712 010060 000 BS: BYTE O ,,STORRGE FOR ASCII DIGIT
2713 01006l 700 .BYTE O ; TERMINATOR FOR TYPE ROUTINE
2714 010062 0oe $OCNT: .BYTE O .,OCTRL DIGIT COUNTER
2715 010063 000 SOFILL: .BYTE O ;;ZERQ FILL SWITCH
S;ig 010064 000000 SOMODE: .WORD O : sNUMBER OF DIGITS TO TYPE
s;ig .SBTTL TRAP DECODER
2720 CERERREERREE R FEEEREEREERAREF R B AR A AL A EE R AR AR RERERARE RS
272l iTHIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE “TRAP™ INSTRUCTISN
27¢ec :#AND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
2723 lOF THE DESIRED ROUTINE. THEN USING THE RDDRESS OBTRINED IT WILL
2724 :2GO TO THAT ROUTINE.



M3-.11 D

SCRKJE
272k
27227
2728
2729
2230
273l
2’32
2733

“RkJ-E, RK11 BASIC L
Bll 19-APR-77 09

010140
010142
010:44
010146
010150

010152

[y —

010046
016600
00s740

000200

011646
016666
0coooe

006470
006420
006702
007822
005516
00S534

005474

012737
012737
010046
010146
010246

010637

000002

gli01ee

OGIC TEST |
14

000004 (000002

010320
00034C

170730
C10324

000024
000026

MACYI! 30(1046)
TRAP DECODER

STRAP: MQV

Rk
06-JUN-77 14:

RO, -(SP/
2(5P) 7RO
-(RO)

tRO),RC

RO
$TRPARD(RC) ,RO
RO

40

PAGE S2

;1 ; SAVE RE
::GET TRRP ADDRESS

; :BACKUP BY 2

::GET RIGHT BYTE OF TRAP
:;POSITION FOPLENDEXING

*LINDEX TO TA
:1G0 TO ROUTI

::THIS IS USE TO HANDLE THE "GETPRI™ MACRO

. :MOVE THE PC DOWN
! 'MOVE THE PSW_DOWN
! 'RESTORE THE PSW

$TRAP2: MOV
MOV
RTI

(SP), -(SP)
4isP}.2(sP)

.SBTTL TRAP TABLE

; #THIS ThoLE CONTRINE

:¥BY THE "TRAP”
ROUTINE

&TRPRD: .
$

$TYPON
$TYPDS

$GTSWR
SCKSUR
SROCHR
SROLIN
CN.RST
CN.RDY

DELA.Y

TH
INSTRUCTION.

$TRAP2

;s CALL=TYPE
;s CALL=TYPOC
;s CALL=TYPOS
;; CALL=TYPON
:; CALL=TYPDS

; s CALL=GTSWR
; s CALL=CKSUWR

; ; CALL=ROCHR
; s CALL=ROLIN

; ;CALL=CNT . RESET

; s CALL=DELRY

TRAP+1(104401)
TRAP+2(104402)
TRAP+3(104403)
TRAP+Y4 (1 04404)
TRAP+5(10440S)

TRAP+6 (104406)
TRAP+7 (104407}

E STARTING ADDRESSES OF THE ROUTINES CALLEC

TTY TYPEQUT ROUTINE

TYPE OCTAL NUMBER (WITH LERDING ZERCS®
TYPE OCTAL NUMBER (NO LERDING ZERCS:
TYPE OCTAL NUMBER (RS PER LAST CAL..
TYPE DECIMAL NUMBER (WITH SIGN:

GET SOFT-SWR SETTING
TEST FOR CHANGE IN SOFT-3WR

TRAP+10(104410) TTY TYPEIN CHRRACTER ROUTIME
TRAP+11(104411) TTY TYPEIN STRING ROUTINE

TRAP+12(104412) CONTROL RESET ROUTINE
;;CALL=CNT.RDY TRAP+13(104413) WARIT FOR CNTRL RDY 70 SET
TRAP+14(104414) TIME DELRY ROUTINE

.SBTTL POWER DOWN AND UP ROUTINES

HH ERREEREERREEEREFEREEREEE RN RELEEELEEERELEEREEEREEREEREEERRRERLEES
:POWER DOWN ROUTINE

§PLRDN: MOV

#SILLUP, J8PWRVEC

8340, 98PURVEC+2
RO, -{SP)
RI-(SP)
R2.-(SP)

R3, -(SP)
RY, - (SP)

RS -(SP)
JSUR, =(SP

SP, $5AVRE

’

;SET FOR FAST UP

. 1PRIO:?

! PUSH RO ON STACK
:1PUSH R1 ON STACK
}:PUSH R2 ON STACK
:'PUSH R3 ON STACK
: 'PUSH R4 ON STACK
:'PUSH Rb ON STACK
: IPUSH JSWR ON STACK

::SAVE SP



BO5

MC-li-CORRC-E, (K] BﬁSIC ;OGI. TEST 1 MACYl. 3C.1046., 06~ JUN =77 14:40 PAGE S3

SZex gl 19-RPR-7 09:] POWER DOWN ANC UP ROUTINES
2r82 (010214 012737 010226 000324 MOV 8SPWRUP , J8PURVEC ;;SET UP VECTOR
3783 013322 000000 HAL T
g;gg g.3224 0300776 BR ) . HANG UP
27& BB RREB RN P R R R R R R R R R AR R R RN RRR R R R R R R R R FR R RRDERGSCEPPS
o787 ‘BOWER UP ROUTINE
2788 010226 012737 010320 200024 $PURUP: MOV 8SILLUP, 98PWRVEC ;:SET FOR FAST DOWN
2789 01023 013706 010324 MOV $SAVRE, 5P T spP
2m90 010240 005037 01032+ CLR $SAVRE ..unxr LOOP FOR THE TTY
3791 010244 005237 010324 18: INC $SAVRE S WAIT FOR THE INC
5792 (010260 90137% BNE 18 : OF
5793 010262 012677 170662 MOV zsp)¢ 2SWR .,POP STACK INTO 3SWR
2794 010256 012605 MOV (5P)+ RS :POP STACK INTO RS
279 010260 012604 MOV (5P)+ RY :1POP STACK INTO RY4
3796 013262 012633 MOV (SP)+.R3 : POP STRCK INTO R3
£797 010264 012602 MOV (5P)+ R2 :1POP STACK INTO R2
2798 010266 012601 MOV (5P)+ RI : 1POP STACK xnro Rl
3799 010270 012600 MOV (SP)+ RO :1POP STRCK INTQ RGO
2800 010272 012737 010i54 000024 MOV $SPURON, S8PURVEC : ser UP THE POWER DOWN VECTCF
2801 010300 012737 00034C 000026 MOV 8340, JSPURVEC+2 ;;PRIO
2802 010306 1044C! TYPE hspoar THE POMER FAILURE
2803 010310 010326 SPWURMG: .WORD  SPOWER ::POMER FAIL MESSAGE PCINTEF
2804 (010312 012716 MOV (PC)+, (SP) : 'RESTART AT PFSTRT
2805 010314 002316 SPWRAD: .WORD PFSTR}Y : RESTART ADDRESS
2806 0510316 000002 RTI )
2807 010320 000000 SILLUP: HALT :1THE _POWER UP_SEQUENCE WAS STAFTE
2808 010322 000776 BR -2 ;i BEFORE THE POWER DOWN RS 2*°_E7E
2809 010324 00000C $SAVRE: O :ipUT THE SP HERE
2815 010326 00S0IS 047520 042527 SPOMER: .RSCIZ <15 <12>"FOWER”
3911 0103 20Ci22
2912 .EVEN
2813
gg;g :ERRCR MESSAGES
gg;§ .SBTTL ERROR MESSAGES
&84/
2818 010336 044524 042515 OM7440 EMI: CRSCIZ /TIME OUT ON RK1l RESISTER
2819 010344 052126 47440 020116
2820 010352 045522 030461 0S1040
2831 010360 043506 051511 042524
gggg 010366 000122
2824 010370 042622 044507 052123 EM2: LRSCI- REGISTER 0T CLERRED
2825 010376 0SI10S 047040 0Sell?
: 010404 041440 042514 OSIICI
327 010M12 042105 000
; 010415 12 041513 020123 EM3: LASCIZ -PKCS ERRCR:
ggg? 010422 051105 C47822 0CO0122
2832 010430 045522 051503 Q42440 EM4: ASCIZ . RK2S ERRZR-SM WJRITING REGD INL: 5173
2833 010436 051122 O0B1117 0O474SS
2824 QOI044M 020116 051127 052111
283 010462 (47111 020107 042522
283k CIMEC Q42101 Q47440 ON61iE
2€37 Zi04ee 02Ci31 (044802 OSicSev



C0S
“C-11-CIRNI-E. Rkl BASIC LOGIC TEST 1 MACYI! 30.1046. 06-JUN-TT 14:90 PAGE S
STPRIEPLL19-APR-TT 09: 1M ERROR MESSAGES

2838 01047M 000

2839
284C Q.347S 102 051525 Q44440 EMS: LASCIZ  BUS INIT DID NJT CLERR RKCS/

! 010502 044516 02Cled (Q44Sou
2842 CI0SI0 020104 047516 020124
2843 0I0S16 046103 040SOS 020122
Sg:g 010524 045522 0S1S03
284 010S31 1 0S2116 Quelee EM6: LASCIZ +CNTRL RESET DIDN'T CLERR PKCS, IN SETING "oC°
2847 010S3%e 0S) 051505 0S2105
2848 010544 042040 082111 023516
2849 01CS52 020124 046103 040S0S
2 010560 020122 04SS22 051503
2851 010Séb 4 047117 0SIN40
2852 010S74 0S2105 047111 020107
ggga 010602 Q43447 023517 ooc
28¢S 010607 103 052115 Quelaz EM7 ASCIZ /CNTRL ROY DICN'T SET AFTER CNTR_ RESE”
2956 010614 0S1040C OS4S04 (Q4204C
2857 010622 Q42111 023516 020124
2858 010630 2523 020124 043101
2853 010636 2Se4 020122 047103

010644 0S1l24 020114 042522
296% 010652 042523 124
2862 010656 042522 Q44507 052123 EMIO:  .RSCIZ  /REGISTER NOT CLEARED:
2864 010664 051105 Q47040 052117
2865 010672 0O41440 042514 051101
532? 0i0700 042105 000
2868 010703 122 052513 020103 EMIl: .ASCIZ /RKWC ERRIR/
sggq 010710 0Si10S 047522 000122
4

egr!l
2872 (10716 045522 040502 042440 EM13:  .ASCIZ /RKBR ERROR.
SS;H Ccig?24 0Sllez O0slll? 0ac
2875 010731 103 05211k 046122 EMI4:  .ASCIZ /CNTRL RESET DIDN'T CLEAR RESISTER
2878 (010736 0S1040 (0S1S0S 052105
2877 010744 042040 QO4elll 023516
2878 010752 020124 046103 040505
2879 010760 020122 0O4eSe2 OM4S07
iy 010766 082123 051105 0oc
288e 3013773 122 042113 020101 EMIS:  .RSCIZ -RKDR ERRIR-
ggga 011000 OJS110S 0O47S¢2 (000le2
2885 0i1006 052502 020123 04711l EMI7:  .ARSCIZ  /BUS INIT DIDN'T (LR REGISTR-
2886 01i014 0S2111 042040 08211l
2887 011022 023516 020le4 046103
2888 011030 023122 042522 CH4SO7
Eggg 31103 052123 000122
269 0ilD42 O42i0: O0S1i04 051505 EM22:  .ASCI2 . RODRESSING ERROR-TRIED TC ADDRESS REGI. oo7 FEaZ
285 CJi.06C Q4-S23 (Q43S1E QHeds
223z Ci1.3Gk 2Ell2e OSlllT 0SeCsE



DOS

“T-i-CORRS-E, RKI1 BARSIC LOGIC TEST 1 MACY1l 30,1046 06-JUN-77 14:40 PARGE SE

I E.PI: 19-APR-TT 09: 1M ERROR MESSRGES

289 (011064 O‘NSZ; i 0
2% Bl bk E

111 1 2
2897 0111 )
2698 Cl1l1¥ 020124 0ONeSe2 031107
2899 0:1122 000

1 gmee: LASCIZ - DIDN'T CLEAR RKCS LOW BYTE-

% ghiiﬂ oaoig GEif) RRgese
2 1113 020l gussa2 051503
2904 Olilvd O460NC 0S3SI7 041040
2905 0l1152 0S2131 000105
2907 011156 47104 7 EM23: LRSCIZ DION"Y CLEAR RKCS MIGH BYTE- . —_—
8 Ay Bl Ry B3

111 1 1513 1
2910 01l 0WsS10 0wl oN1080
aag{é Cl1:206 0S2131 000105
2913 0llele 0OS 1 0d  EMeM: LRSCIZ /TRIED YO CLEAR RKCS 'BYTE®, CHANGED ‘REGIS™
313 D13 BHE BN REN
2918 01l 051101 0OSI1ON0C 0Ow1513
2916 0Oli2d 0201 oMI0N7 082131
2917 Olleve Q2 020054 044103
29:8 011250 0N7101 042507 020104
2919 011256 051047 043505 0S)51!
% 011264 7
2922 011266 0OM0S06 046111 042105 EMSS: LASCIZ  FRILED TO CLEMR °REG-BYTE®
2822 0l1e”™ 020117 0O4e103
2924 (11302 040505 020122 OS10N7
292S (011310 Q43505 041085 0S2i3!l
% 011316 0e3S80S 000
2928 (01132l 122 0M1513 020123 EMes: LASCIZ  -RKZS ALTERED ON CLEAFING "REJ-BY'E' -
2929 01132¢ 046101 042524 (42522
2930 Q11334 020104 047117 ONINMC
2931 011342 0O42SI4 0S110! O471i!
2932 011350 020107 0SI047 (043505
2933 011356 O0OM1065 062131 023505
%3359 0113t4 000

01136S 124 QMq522 O4210S EM2”: HSCIZ - TRIED "3 ZLEAR "REG-BYT.®., CHANGED "REG-8YT2'
2937 011372 0s204C 020117 046133
2938 011¥00 0QM0S0S 020122 CSICY47
2939 011406 043505 041085 0S213l
2940 011414 023461 020054 044133
2941 Ollv22 047101 042507 020104
2942 011430 0S1047 (043505 (O410SS
Sg:?‘ Gl1436 052131 023462 200 _
24 11443 12S 042516 0S013C EM43: JASCZIZ - JNEXPECTED RK!! INTERRUPT
234¢ Cli4S0 041505 Q4eSe4 02C104
2997 QlI4SE (45522 Q30461 Q44440
s9+c Cll4e4 QJS2lle OS1i3S 0S2Sez .
2395 Zil472 J=glec 20c . S



-li-ITRel-E,

S T
2950
28]
2953
2953
3954
2955 Cl1:478
3956
2957 01150y
2958 011512
2959
290 0:15:4
33; 011822
2362
2963 01:539
2964
2965 011534
2%6 011542
3967
2968
2369
2970
297!
2972 iS4
2673 Oligsy
2974 11862
2975
3976 011566
3977 911574
2479 011602
2979 011610
2980
298] 011615
2982 011622
2383 011630
2984 011636
2985
2986 011643
2987 011650
2388 011656
3989 011664
29%0
2991 011670
3242 0)ig7p
2993 011704
2994
29% 011706
29% 011714
2997 Q11722
2938 011730
2999
339¢ 011733
30¢;
3002 211740
3002 31174
3204 D117g4
3% Ciizee

il Be

-y~ ane -
dev wvan

.3-RAPR-"" 06: i

Or—-
Qe -
(% Lt
oo O

[y

b
- [« oI
o

28 8 88 88 8
e o

—
[ ol
oo

o4e

Jo:1ee
00lise

01162
00!170

ocooes

01182
00C0as

o41520
Q43505
0p0gie2
g41520
Q43505
020040
g42les

0s0040
g42440
J2004C
o42126

050040
053440
020040
000104

041520
o42522

g41520
051127
02004C

coo

050040

Q41522
Q42522
02C340
£20062

Jc000C
JC11e4

020042

O4C455

023040
g421al
0S104C

000

020103
05C130
051040

000

020103
Q47522
051043

02308C
053133

02004C
052ii7
g4es2e

C0o0133

020040
030507
0513043
320242

MEcr.l 33,1346

ERROR MESSAGES

C7l:
012!

gveg:

gcrel:
oTes:

OHY :

DH3:

DMl

Cr2l:
DH20:

LEVEN
LSBT L
. WORD
.WCRC

. WORD

.WORD
.WORC

RSS2

.RSCIZ

ARSI

06-2N-77

EQS

14:40

PRt St

ERROR DR™R POINTERS
SERRPC,SREGC,D
SERRPC, SREGO, SREGL.O

SERRPC, SREGO, SREG), SREG2. SREG2,2

SERRPC.0

$ERRPC, SREGC, SREGL, SRES2.C

ERROR HERDERS

¢+ PC  REG-RDDR
PC  REGACL
PC EXPCT
P WROTE
Pl RECVC -
F WROTE

; B(-
pC REG!

RECVC

RESVE

READ

RERD

REGZ2  RESL.

\RES2



FOS

W oi1oIRRC-E, kil BRSIC LOGIC TEST 1 MACYIL 32,1046 D06-JUN-TT 14:40 PAGE 57
X9 JEPU 19-RPR-7',§ 0S: 14 ERROR HERCERS
3006 011770 051050 043505 Jcudel
206- C11776 020040 051050 043505
3008 Cl12004 024462 000
3019 012007 040 050040 020103 OHc4:  .ASCIZ P BY"E  REGIS (REG.EXP (REG,RETVC/
3011 012014 020040 054502
3012 012022 Q42524 (020040 051040
3013 012030 Q43SUS 051511
30!y 012036 2522 024507 054105
3015 012044 020120 01050 043505
33216 (012082 0S10S1 1805 Q42126
%5;; 012060
20.9 Cl206! 0S0040 020103 CH2S:  .RSCIZ PC REG-8YTE RECVC/
3020 012066 020040 (042522 026507
3021 012074 J4eSed 051040
gggg 012102 041505 Q42126 000
3024 012107 040 050040 020103 DHMeE: .RSCIZ - PC REG-BYT (IS'EXP (CS.RECVD/
3025 012114 020040 Q42522 026507
3026 Cl2l22 0S4502 0201ed 4048
3327 012130 051503 Q4e4sl 050130
3028 Ci2136 024040 051503 051051
33%233 glalyd 041505 0OM2126
2031 012151 040 0S0040 020103 DHET:  .RSCIC p R-BYT1 R-BYTZ 2-EXPLY 2-RECVD-
3032 012156 020040 0S1040 1055
3033 Ql12164 082131 020061 051040
303 012172 Q41055 0Sel3l
20 012200 031040 OM2455 0S0130
303t 012206 052103 031040 051085
:3&83; 012214 ODM1505 OM2126 000
glezal o040 020103 ©OH3C: .&52I12 - PC kIS RKEF RKIS-
40 Olcese (C2004C Q2 Qusse2
204. Q212234 0S1S03 020040 02304C
3042 Jlg24s J4es22 0J51105 320040
043 J1228C C2004C Ju45S22 15C4
2g84  Clz2Sk 3ce
30es
Ko
3247
T8 2222 LEND



~d
NS latIRRT-E. QRLL BRSIC woell TEST i MACYIL 30.1046., 06-JUN-TT 14:4C PGGE =3
c3enreer 13-APR-=%"29: 14 svegs. TRBLE
3RCINT 002212 DISPRE 0001 RO_IN = 104411 TSTI0  0032.+
3.0°8C 0OCC126 DSWR = 177570 RESVEC= 000010 TETI1 0933
2:72 = 923001 T1 011476 RKBA 00126+ *€T1e  QG34&M
2:70C = 000001 £12 011504 RKCS 001250 15713 093532
2:70:1 = 0C0002 0Teo  0118:4 RKDA 001256 18714 003640
27702 = 0000 crel 011530 RKDB 001260 13715 003706
5:723 = 000C.5 n*26 011534 RKDS  D0l124d4 TST16  00NCI
5:704 = 00002C EMTVEC= 000030 RKER 001246 v§T17 004066
5:70S = 000040 EM1 010336 RKPRI 001266 *§12 Q02504
87796 = 29019C EM:0 010656 RKVEC 001270 15720 004174
2:-27 = 000290 EM1] 010703 RKWC 001252 78721 004250
51738 = 000NT3 EMI3 010716 Re  =.000006 *§122 004410
21708 = 00:000 EMI4 010731 T =x000007 75723  00463C
31Ty = --oggg EMiS 010773 STACK = 001100 75Te4  00SGIM
B3110 = 082 EMI7 011006 STRRT 001842 7573 00257¢C
2:71i = 004000 EM2 010370 STRRT! 002110 7ST4 002650
21715 < 050000 Ened  Diiled 2R G014 R 03108
87713 = 11
83714 = 858888 Enag 011186 SWREG  OGC176 '579 03162
E7T1S = 100000 EM24 011212 SW0 = 00000. TYPDS = 10M4MCS
2372" = 00000M EM2S (011266 SW0o = 000001 TYPE = 104401
2:13 = 000010 EM26 011321 Sw0l = 00000z TYPOC = 104402
2174 = 0C0geC EM27 - 011365 SW02 = 000004 TYPON = 104404
8275 = 0000MC EM3 Q10415 SW03 = 000010 TYPOS = 104403
2:7& = 000100 EMY 010430 SWO4 = 000020 11 002412
317" = 000200 EM43  D1I443 SWOS = Dp00NY SAUTOB 001134
5278 = 000400 EMS 010475 SWoe = 000100 §80ADR 001122
2179 = 001200 EMB 010531 SW0T = 000280 $RODAT GO1126
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